Science & Technology
Paper -1

Maximum Marks : 80

Name the comet that was last seen in the year 1986 and is expected to be seen
again in 2062.

IH ey H AW 9qey S fuel 9w 1986 O fmr on o fweR oW 2062 W OE:
fe@ &1 gueA T (1)

Name the two kinds of photoreceptors present in the human eye.
T 3@ ¥ 98 9H A9 § THR o YAned (WRfmew) & 9w fafea (1)

Name the disease that destroyed the potato crop completely leading to Irish
Famine in 1740-41.

9 WM w1 AW TAfEd S 1740-41 § 0] FI HESl o YOG T BH W STERW §d@
(SERTT wHE) F1 WO G el (1)

Write the alternative name used for endrocrine glands.

Aq: S ARE (TSR TerSE) o foTd e S W R W1 @2 (1)

A burning matchstick is brought near wood and petrol simultaneously. Which
substance will catch fire first ? Give reason.

Tw Wl g2 AfE® R Al 1 Wehel qel U2 o WHIY UE WY ol Sl €1 &
| U9 AT U YHSW? HRU H Sasdl (1)

Write the significance of ciliary muscles in human eye.

HAEE e § fael wreefiral &1 e edsdl (1)

Name the two metals that can be cut with a knife.

1 Q umge & AW fafed 5= = g0 w@ S owwar e (1)

When Kiran struck a metal plate with an iron rod, the plate produced
“25 vibrations in one second.” Name the term that describes the underlined
expression and write its SI unit.

Sa 0 4 TF WU F ORI B TH AR B DS W A™ @ Te # 25 FwEE wh
afsrg’’ I gul YEifea Afvyeafs & fau wgea @ @0 22 e e, (SI) T
%1 91 49 fafed) (1)




10.

A male gamete X' unites with a female gamete Y to form a single cell ‘7.
(a) Name the process.
(b) Identify X, Y and Z.

TH W THF X & UH A gHE Y & WY fHen W e Siw Z g 2l
(a) 39 9ira &1 AW farEdl
(b) X, Y, Z F-9 Fedd &7 (2)

Draw a neat diagram of a plant cell and label the following parts :

(a) Cell wall (b) Nnucleus
T HEMY] K TH g To oA SR SuH TrEfafed S o (@ied wieg
(a) HIferRT fofa (b) ¥ (2)

Alternative question for Visually Challenged Students in lieu of Q. 10

11.

12.

T YN 10 % WA | IRy faeRiat & fau dwfers we
Write any two differences between a plant cell and an animal cell.

dlYl SRISTY] AU 99 SHIRTRT § whiE & Sl dasdl

Sir Issac Newton passed a narrow beam of white light onto a glass prism and
observed that it gets split into seven colours.

(a) Name the phenomenon.

(b) Name the natural phenomenon associated with this phenomenon.

W ARES 2 A U R o9 vad YWl &1 UH G fhd 9 % fem 9 e @
d 9% @@ I § §e s 2

(a) 3@ @A =1 AW fafed

(b) 39 Wifas 3v8 &1 A9 fafgd s syls a9 9 Awif@ @ (2)

What do you understand by the following terms :
(a) Water pollution (b) Water pollutant

= =l & 1 9asy
(a) <& gguw (b) VA WIHS (2)



13.

14.

16.

17.

18.

(a) Why do we say that “Rayon is not completely an artificial fibre” ?

(b) Name the synthetic fibre which appears to resemble wool.

(@) ¥ H Fed & & T i FHEm owER T/ g

(b) W HOM W w1 AW fufEd W o @ o g o g (2)

Give two reasons to justify that it is not advisable to wear synthetic clothes
while working in the kitchen.

“pfm FUS TEAel WE § % S Sfad 9@l 217 & &N aaEd Sl Sule S
& ofifecs =1 @ifed w3 2 (2)

State two factors on which the process of electrolysis depends.

foe smed (Solediclis) #1 AWM SO 96l § kR 6 wm fared| 2)

(a) Name the structure, present in birds that helps them to produce their
characteristic sounds.

(b) How do frogs produce their croaking sounds ?

(a) 39 Gr= S A fafed fows gema @ ueit ot et faferse safi freem @

(b) Hegw A AR @t F Freewr 22 (2)

Neha found some impurities in her pot containing drinking water.

(a) Suggest any two methods of purifying this water.

(b) State two purposes of purification.

Y O3 o Yoo % oud ¥ g9 oy awd 1

(a) W 9d & Yg FH F T IUE I

(b) TFEHEW HI EvEFRA o & A 399 farEdl (2)
(a) Give reasons for the following :

(1) Milk should be pasteurized

(i) Pasteurised milk should be refrigerated

(b) Write the disadvantage of pasteurization.



19.

20.

21.

22,

(a) FROT TAEA :

i) T & YREUFA fF@ S =Rl

(i) Tvalihd g9 w1 fRw ¥ w S W =Ry
(b) UmEEW w1 W (fegusgamw)  w@ @7 (3)
Give reason :

“Venus is the brightest and hottest planet in our solar system.”
HROT Ty
‘3 UE ARHSH Wl HeW wHsIel aw ™ g el

OR (&YaD)

How does the thin atmosphere of the earth play a vital role in protecting
and preserving the life on earth ?

gedl W Sied ®1 UWd q9r wWifwa W " 39% aigHsSa &1 YqfEeRr  3fd
wequl  # @2 (3)

(a) How can the properties of a metal be modified ?

(b) In what way is the homogenous mixture better than the actual metal?

(c) Write the composition of German Silver and its use.

(a) ugsl & Ui A uferdd ke fREA W WEH@ €2

(b) ¥ #RW ¥ T TEME fOg0 ® FRAEs U9 W UEEd  HE T
TH Thd 77

(¢) wHA fHesR (SHH =E1) +1 @O 91 IUFH 3TN AdEA| (3)

List any three adverse effects of noise pollution on human health.

A W WA YEuul e iz M fauda  (SifeRe)  wewe fafed (3)

(a) Differentiate between biodegradable and non-biodegradable materials. Give
one example of each.

(b) Suggest any two measures to control the damage caused by plastic wastes.



(a) @ FefwRw (FEifeieaa) qur @ fefmm (FF-aEfeiead) =i & o=®
TaEd | UHh YRR oF Ugd & UH-Ush IcEd fefEd|
(b) A UMY ¥ €M Sl el (FANE) 1 HIfHd Hi o $E a I9F el
(3)
23. (a) Name the structures that are responsible for the inheritance of characters
from one generation to another generation.
(b) How are these structures formed ?
(a) = TRt #1 91 fafed st & Tl ° el Wel 0 W A aendehiad Ao
(sFefifes favtwmnai) =1 wefem w2
(b) ¥E HEAU fFE TER a9 27
OR (312mm)
(a) Distinguish between an amoeba and an earthworm on the basis of their
cell numbers.
(b) What is the function of a nerve cell ?
(¢) Name the colourless plastids present in plant cell. (3)
(a) e TIel (Vel &) o SMHE T Tk Siar) (37fien) a9 T sy (S7eiEmy)
¥ w SR w77
(b) ‘=em FW' (T W) F FE FNoFT@ 2?2
() U1 wIkER W U@ WM O URE wireel ®1 oam forfem)
24. Complete the following table :
Microorganisms Role played by them
(1) Bowel movement
(i) Production of Penicillin
Rhizobium (111)
Lactobacillus (iv)
(v) Fermentaion
(vi) Act as common decomposers




25.

= afee &1 W@ FE

(a)
(b)
(c)
(a)
(b)

(c)

qawstig w1 AH 9k W fHA 9 aren &
@) A M
(i1) Uifafe 1 IeaRA
stiferm (iii)
[SECIEIERR (iv)
(V) IERCENGTUERE)
(vi) FYRUEE; ST F ©

(3)

State the underlying principle on which the ‘Braille System’ depends.

How many characters are present in this system ?

Mention two methods by which ‘Braille text’ can be produced.

IA UG (SR TE) H OGEYA SHR 27
™ Ugd W Wge WehaEl (ShERd) # Hed e #7
‘S @@’ aH ° e 'MW awn & fafusi & s fafau)

OR (31¥4)

Ram saw his grandfather reading the newspaper by holding it a little distance

away from his eyes. When he enquired about this, he was told that his

grandfather has a defect in his vision.

(a)
(b)
(c)

What is the defect called ?

Write the two causes of this defect.

How can this defect be corrected ?



26.

21.

T9 3 3@ % 395 @S FEIR F Ud 999 A @ ¥ F9 W W WA 2| =
TR A IB7 W S8 A T fR SEe IRet & 3fe § W e T R

(a)
(b)
(c)

(a)

(b)

(c)

(a)

(b)
(c)

(a)

(b)
(¢)
(a)

(b)

(c)

M 39 FH P FE S 2L
72 39 fa @ FROT W B @ 27

77 TN 59 UFR I fFE S TEa 2?2 (3)

In which reproductive pattern, the zygote formed is surrounded by some

secretions along with some reserve food and a shell ?

Write the name given to the animals belonging to above reproductive

pattern.

State the three main functions of the female reproductive system.

T o e 9 ¥ o A A (W) g wndl (foeeivAl), @ dfEd
WoH S TR e (J) ¥ O gem e 22
fom <l (Sgel) ¥ IWE WS B9 U Wa ¥ 98 fRY AW ¥ §H 9 €2
Al Yo dd o dF &I % dargd|

OR (&1¥En)

List out any three changes that take place during the transformation of

a tadpole to frog.

What is this ‘transformation” termed as ?

Give two examples of insects that undergo these changes.

gk & T=3 (3TU) § Ugw o HI WA § T A T § AH AT HiE
TH 9iEdq =l

T T K RE AH W WA W @7

W YFR % UREdH W oA 9ol @ ®id (TEEE) o SER e (5)

Vinay wants to remove the impurities from the copper spoon given to him.

(a)

Which application of electrolysis will be helpful for him ?



(b) Explain the experimental set-up of the process.

(c) State any two reason for coating ‘bicycle handles’ with chromium metal.
o o = @ M oTE F owwe A ¥ enfed w1 e =wa 2

(a) foem oT9aed (somRifafad) &1 &M @ syEm (Yfemsm) s9% foe wems Bm?
(b) =@ fafy ¥ wygaa waifies =gawen &1 faewu el

(¢) '‘Efaewa Tecg' o FW HIHIH oG W fdd R SH % R A wROT SAEdl
(5)

When a magnesium ribbon is dipped into copper sulphate solution, the colour
of the solution fades away and the magnesium ribbon gets coated with a brown

layer.

(a) Name the metal that gets deposited on the surface of the magnesium

ribbon.
(b) Name the reaction that had taken place in the above experiment.
(c) Represent the reaction in the form of a chemical equation.

(d) Arrange the following elements in the decreasing order of their reactivity

series :

Magnesium, Gold, Zine, Potassium

S BEIREE H1 Y K KW The F O W OgEAM ST € W OSiel o T eR-ei
®IR BIAT WA ® SR CHHIREE Yl WO U1 ORI WA 1 Wl @

(a) TrifoEm wedt W fFEfod B 9W ol o 1 AW e

(b) 3@ WA H BH o WiAfhA w1 AH sarsdl

(¢) O wiafshn &1 TUAH® THiwm fafad|

(d) f qi &1 3Tt wfafwanioa & @ed o8 d wdfaa sifag

OR (J1y=)




29.

(a)

(b)

(a)

(b)

(b)

(a)

(b)

Identify p, q, r, s in the following analogy from the clues given in the
brackets :

P : (Aircraft bodies) : : q (Metals used in Dentistry)

r : (can be drawn into wires) : : S (The property of
metals of getting beaten into thin sheets)

“All ores are minerals but not all minerals are ores.” Justify the statement

by giving one example each.

3 ™ wohdl Ht WEE@ W p, q, T, s % AW AARA :

__ p_ (FESES ok W) q (5a fafhcar o e o)
r (T % T G W EEA E) s (U T@e ¥ o A
CIGE L)

Yaslt o mfte T (fRew) B R ofes ws mfe e e T ekl
TF TF ST TR TH HUH HI g wmiteE| (5)

Define the term ‘calorific value’ of a fuel. State its units. When the
calorific value of a fuel increases, does the efficiency of the fuel go up or
down ?

(i) Name the products that are formed by the complete combustion of
wax vapours and carbon particles in the outermost zone of a candle
flame.

(ii) ‘Gaseous fuels are better than other fuels.” Give any two advantages

of gaseous fuels.

foredl S+ “Shelifes doq'’ @ uiewfoa S ) sEEt g e 22 afg T
$ 1 helRhe 9o e SN Bl SEeR W1 STl A SR
(i) el Aigeet ®t o F GOE ARG 9 H WH S O qel e ok HUI
F IO T § I A9 SR o AW el
(i) “Tra e o femi @ sfum o8 @ 21 T fAl o ®E I o wared|
(5)




30.

(a)

(b)

(c)

(a)

(b)

(e)

(a)

(b)

(c)

(a)
(b)

(e)

Why does a ray of light, when passing from one medium to another, take
a bend ?

How does the speed of light in a medium change when its optical density

changes ?

State the details of the nature, size and position of the image formed by
a convex lens of focal length 20 ecm when the object is kept at a distance
of 30 em.

T H THEOT TH W™ § g WeAd § WM W §S FE Sl 8?2
ferdl e oh YeRTelid o H OflEdd B U0 SH HISAH H WeRI¥l bl A U
UWIg el 87
fordt a%g ® 20 Q. FHEY g0 a6 S99 o9 ¥ 30 9L T W @ T 2
a5 o Uidfa &% WHR 2w qen frufd & W F aad)

OR (=%mam)
Mention the type of ‘in-built’ lens present in human eye.

Write the position of the image formed by a concave lens when the object
is kept at a distance greater than twice the magnitude of its focal length.

Define :

(i) Principal Axis (ii) Optical Centre (iii) Focal Length
for a lens.

qedta st § ferd o fRe weR @1 wld @2

Rl a5 # UF AOd o ¥ TUR! EHH 0 W G G afud g W
TN Rl oW BW 9 d widfes &1 feafd wm @mi?

fret dw & fau f= w1 ofenfm Fi6E

O F& g

i) 3 &=

(iii) wIFT TR (5)



31. (a) Complete the following table :

Gland Hormone Function
(1) Growth Hormone (i1)
Thyroid (111) Regulates the
metabolic rate
(iv) Adrenaline (v)
Pancreas (vi) Lowers blood glucose level

(b) State any four points regarding the importance of physical activity during

adolescence.

(a) = & T afesr & o9 s

T B fF 99 @@ &
(i) gfg =MEE (ii)
RIS (iii) RO IR ER B
F @
(iv) LSIEIRIER] (v)
IR (vi) A H wERL HIOAE
HH F T

(b) VHIftws Tfafafemi & fEyEg o@ww ¥ 7o W HE =) 99 fdar@dl

()



Paper -2

Maximum Marks : 80

A bulb can be lighted using a strong bar magnet and a coil of insulated copper
wire. Define the phenomenon behind this. 1
TF ocd Hl TGO TS Ak qd UH Al KW G H Hed k] GAN Fleh Sl
S WEHAl B THH WS BM Al Ufeew &1 ufiefva sifsu

Arrange the three medium given below according to descending order of speed
of sound in them : 1

Steel , Air , Water
f fau o @9 wierw & waH &1 Ufd % AFER Ued ohH O ARl i
© e, 99, wd
List any two native states of Carbon. 1

FEA B FI S A I IASY

Choose non-combustible substances from the following : 1
(a) Cloth (b) Rubber

(¢) Glass (d) Brick

= F R e -

(a) h9sT (b) I

(c) i (d) e

When we go out, we prefer to carry our water bottle having potable water with
us. Give reason. 1

N4 T FE S € 99 89 U4 WY UM W ° Wl U H1 Sqel 1 el ST THE
FL T FWO a@EU|

Why are perishable food items like meat and fish covered with salt ? 1.

qE TE Hes! SW T M ad Wre oRel Wl AHE W F@ ew Wil 22

Define Vaccine. 1

TFrEr w1 uRerfig it



10.

11.

12.

13.

14.

Endocrine glands are also known as ductless gland. Why ? 1
o T ueEl R AfaEeEE ufhEr of wer ST 2 i

Enlist two observations as a beam of white light passes through a glass prism. 2
HS ATH o WH Y9 o6 I o 5 @ oM W W B A © STEwihAl Wi
P CIEE-SE s

Differentiate between rods and cones present on the retina of our eye. 2
TN @ oF YT W U WH A ©% TS UE § Aql T i

Give reasons for the following : 2

(a) Colourful bands are associated with Jupiter.

(b) Venus is the brightest object in our sky after Sun and the Moon.

o

FefarEd o RO aaEd—
(a) Feeufa & @9 T ufeedl & @9 T fen smr @)
(b) ek H I 9 WK F AR AEHA H GIH GHHIH qK HA L

Why does Mars have low average density as compared to the earth ? 2
HTA WE R ST KT ST SfHA WA W FE gl 27
Give reasons : %

(a) Bakelite is used in making electrical switches and handles of cooking
utensils.

(b) We should carry cloth bags when we go out for shopping.

FNO AT
() FaEZ &1 TN fasel & 929 T§ @H a9 9 ddd & g a9 ¥ uE T
ST Bl

(b) =4 @M & & U 90 999 #98 &1 9ol oF SE =@Eu)

Give two reasons why it is desirable that a fuel should undergo complete
combustion. 2

T FRO TaEd fF R fm w1 goi o fetm = w2



15.

16.

17.

18.

(a)
(b)
(a)

(b)

Explain how nucleoplasm is different from cytoplasm.

List the main factors that determine the shape of a cell. 2

=R € fF ATYE 5 U6 SIE 3 W FE YER B

HifgrT # FAEe w Fifa w9 O THE wRE Ty

Complete the table given below

Name of animals

Site of fertilization

Site of development

(a) Ostrich - e s

(b) Cow - -

= R R Al W WRA
g w AW T F TIH o w1 W

(a) | <@gt - S

(b) | T —— —

Which one of the following is a biological nitrogen fixer and why ? 2

(a) Clostridium (b) Rhizobium

i & @ *F Sfas AEed avE 9en ¥ ud a6

(a) Explain how fungi, like yeast, make the dough fluffy or soft. 3

(b) Name the mode of transmission of pathogens of the following diseases :
(1) Common cold (i1) Tetanus

(a) TOH Iool@ H & AN WE FaF YU T A2 H HA Fod 87

(b) = W & FH F FEINU & TR H1 AH 30—

1) IhH

(Gi) =9



19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

Name the type of eye defect in the following cases : 3
(1) A person is unable to see nearby objects clearly.
(i1) An old person has a hazy vision.

(iii)) A person is unable to see far off objects clearly.

Write how each of the above defects can be cured ?

e 8@ 9 3@l % SW H A gasi—

() TF e UE FT o K GE TR @ I

(i) T g =fE & duen fema 2

(iii) T =afe@ R FI 9% S 9% A& @ Tl

et fF sw feu U @w w1 %Y diw R oW wwa ®?
OR (&1¥Er)

Name the part of the eye which regulates the amount of light
entering into the eye and how.

Arrange the following resources/aids as optical and non-optical aids:
(1) Telescopic aid (11) Lens

(iii) Braille (iv) Tape recorder

I ok IE WM % A9 =AY S 3@ T OYHS A W & W
frafm w82

f weraeEm & gfe gadft dr fawm sfe Wi W o emtem w5
(i) fawd®  tsw (i) o9

(iii) T (iv) 2u-Rere

Write the metals used as anode and cathode during electro refining of

copper. 3



(b)
(e)

(a)
(b)
(e)

21. (a)

(b)

(a)

(b)

22. (a)

(b)
(a)

(b)

Name the solution that needs to be used during refining of copper.

Explain why solid silver nitrate does not conduct electricity while silver
nitrate solution does.

dd w1 fagn ferfm § e o FUe yEm eH A uig &1 AW =dsu)
dd 1 fogm feRFT § wEm o'W 9@ oUW w1 AW SaEdl

¥ g f& 39 foeer AEde fag@ &1 wER #@ TE e, fee foeet
TEEE H WA wA T

Categorise the following electrolytes into weak and strong electrolytes:

Sodium chloride solution, Oxalic acid, Ammonium hydroxide solution,
Copper sulphate solution.

Name the two metals used as the positive and negative electrodes in
a voltaic cell. 3

fre faga suaeal &1 fda awn waa fag sAused § oo &
difegy Fiige @, silaafos I9d, HHIH eESeEs i, i Hohe
A

difcess T@ § TR qN WOTHS fagewi o+ fow wgw e A umed
F Tm fafau

Differentiate between metals and non-metals on the basis of : 3
(i) Tensile strength (ii)) Density

Compare the reactivity of potassium and iron towards water.

giq G AUHA! H AR A o SFIER HaEe—
(i) = qHd (i)
ueRem UE AR R UE & e efufEen . & wiE R ge w1l

23. Explain how agricultural wastes harm the human body and aquatic life. 3
Tt % =g Y YHR TR YRR A g Sied S B Yedd 87

OR (&Y41)



24.

(a)

(b)

(a)

(b)

(b)

(a)
(b)

Enlist four methods that can be used to make water safe for drinking

purposes.

Name any two water borne diseases.

IR UE fafEt aaed foaes ST ® Ut i 9H oF S ¥ gukd a9 S SR
2l

Temfed 9 94 9 g drelt iE o a6 A fafad

Flame of a burning candle goes off, when we blow over it strongly. Give

two reasons. 3

Name the type of combustion when combustible substances catch fire at

room temperature. Give one example.
TH Wod g Higel S SAen o 9 edl thehd W A9 W 21 &1 FE0 Tqrey)

S TH SOOI O] W o GHE H SN IhSdl €, 3§ Wa oS8T Hl AW
qae| TH ISR 3

From the following box, identify the organells found only in plant cell and write

one function of each of them. 3

cell membrane, cell wall, nucleus, large vacuoles, plastids, mitochondria

9 § € Sdd U2y ®IRE § 9F 9 9 S el Uit @R Ud® #1 Uh HW
AT

T fareet, wiftvmen fafa, o=, o€t i, <fes, O

(a)
(b)
(a)
(b)

OR (31¥941)
Mitochondria is called the power house of a cell. Justify the statement.

What happens to the chromatin when the cell is ready to divide ?
TEAFST H FHITH 1 fOEUE wel S Bl 36 HUT d TR 2
HfeA & M B 2 TE wIvEE fawsw % fou daw g 82



26.

2.

(a)

(b)
(e)

(a)

(b)

(e)

(a)

(b)
(e)

(a)

(b)
(c)

(a)

(b)

Suggest two conditions under which no change in the direction of
propagation of light ray would take place when it passes from one medium

to another. 5
Define principal axis of a lens.

State the nature and size of an image formed by a convex lens for which
it is used as a magnifying glass.

wH T aftfeufaa Sad @ g #1 TR UE ooeam ¥ g W 9 H W
feon & #E o= wegE T |

Tea MU & a0

yfafael o WHE 91 RN ok 9N § waEd, 9 S °F #1 dEdE o9 # aw
W fEm Smr 2

OR (31y=n)

Absolute refractive index of medium P is 1.5 while that of medium Q is
2.2. In which of these two media, light propagates with a lower speed ?
Give reason to support your answer.

Write the nature, size and position of image formed by a concave lens.

State any two applications of a spherical lenses.

WA P e geehd 1.5 T 9 Werm Q %1 2.2 | 3 ¥ fREH wwwr #
e i g

FHe TH H g I WA R YR, SHR 9 € gan|

TR o9 & B W SAIYER qaqmy

Give reasons : D
(i) We hear the thunder a ‘little after’ seeing the lightning.

(i1) There may be many “explosions” and “noises” taking places in the
outer space but we do not hear them.

A honey bee completes 3000 oscillations of wings in one minute. Find its
frequency. Can it be detected by human ear ?



28.

(a)

(b)

(a)

(b)

(c)
(a)

(b)

(d)

(a)

FOT AT
(i) &9 fasiefl fe@d & ot @ o€ SHa) H g F
(i) ==7 Fary ¥ 9gd § fovwe 3 9@ e[ 2 |fed g9 3% g9 el Tl

wF HyEEEl o U@ U fiae ¥ 3000 %A Y0 wid B S i fAeeral @
T B9 9Ad 1 9§ GT 9Hd B2

Write the following metals in the decreasing order of their reactivity :
Mg, Cu, Fe, Ca 5

Some zinc granules are added to dilute sulphuric acid taken in a test tube.

Another test tube is inverted over the mouth of the first test tube.

(1) What will you observe in the first test tube ?

(ii) What happens when a burning splinter is brought near the mouth of
the inverted tube ?

Write the balanced chemical equation involved in the reaction.
=1 &1 uidierarsiielar & =2d %H o fae—
Mg, Cu, Fe, Ca
5% & F0 70 UeHfE e ¥ UF wEde ¥ wen € gl e IHe 4
W I H T 2
(i) B9 Wecll @Il H P AAAFA B0
(i) 9 39 W@l % Y & UH Th ol g8 diell oig erdl ®, @ g
27
TH WiRAT I H{fdd TEEE wHiEon o]
OR (&emEm)

Write the non-metal used as :

(i) an antiseptic (i) a cutting tool



30.

(b)

(c)
(a)

(b)

(c)

(b)

(c)

(a)
(b)

(c)

(b)

Amrit was given a green coloured solution of iron sulphate in a beaker.

He added a few pieces of magnesium ribbon to it and observed the change.
(i) What is the change in the colour of the solution and why ?

(i1) Write the chemical equation involved in the reaction.

Gold and platinum are used for making jewellery. Give two reasons.
FE W U T H WA e 27

i) TH TeT kA o g (i) FRA G AN

ST F ST Wohe w1 B L1 H U @ mn Swd sed A few &
FT THS T AN TH AEAE vE T

@ H@ F W H PN OAAE S SR FAY

(i) w8 9w =t vErEteE e fodl

g4 9 wifed ¥ Ted 99 €1 & HRU s

Nylon is used in carpets, socks ete. items. State the reasons behind this.

Categorise the plastics given below as thermoplastics and thermosetting

plastics :

Terelene, Melamine, PVC, Polystyerene

List any four advantages of synthetic fibres. 5}

e ¥ Mel™, YO TefE 99 W™ €] THe R S|

e F1 omitanfe® UA o wies d i Wi

Fm Wi ® HE I BEL Fand]

Explain why is earthworm known as hermaphrodite animal. 5}
Arrange the following in sequential order based on life cycle of frog :

Tadpole, Embryo, Adult frog, Tadpole frog

gLl o B A Rl Al



(¢) Label A, B, C and D in the following diagram of male reproductive system
of human being.

(a) Fgem = fgfam = w81 S 22
(b) ¥e® I Stad =@ ¥ fae fowme o =on w wel w9 H fafeu—

R i L il b il

(¢ fm= A A, B, C, D 79T Fi-

¢ D

OR (3AYdl)

(a) Describe the difference between binary and multiple fission.

(b) Compare direct development and indirect development with one example
of each.

(¢) Name the part of female reproductive system where the growing embryo

gets embedded.



(a) @A TE@ed @ Teeme fagesd § =R o= Hi

(b) W& TI W fGF™E F TO L 9 AP H TH-TH IO 3

(¢) Ta WA oF B foe &= d wg@r g 9w ¥@ Wi @2

Alternative question for visually challenged students in lieu of Q. 30 (c)

31.

gheafua faarfil & fow w9 s 80 (o) & N R dwfea® ¥
List any two functions of ovaries.

SR™ % T HE

(a) The voice of a child is high pitched before puberty whereas it becomes

‘deeper’ when he goes through puberty. Give reasons. 5}

(b) (1) Define hormones.

(i1) Name the hormones secreted by male and female reproductive organs.

() TUH aclh 1 3TE hYN 3Eed § Y8el I=d @l w9 &1 Bl 2, dfes ol
g fFEeR arawen § a1 ¥ OIGH! AT Med @ Sl 2 SR adrd

(b) (i) =E-E &I gfEfig =i

(i) R T TRl YA S § he Al @R s AM &



Paper -3

Maximum Marks : 80

1. Observe the following figure : 1
Bell Bell
Air Vacuum
Case (1) Case (i1)

When both the bells are set ringing one after the other, no sound (of ringing
bell) is heard in case (ii).

(Give reason for this observation.

| U4 I
%4 (i) F9 (i)
9 2 IR H ST H TH ok WR UE a9 W @ dl ohd (i) W S H 3yens

TAE TS S

B2 3R T B adl$‘il

Alternative question for visually challenged students in lieu of Q. 1

Why do we not hear the sound of a ringing bell present inside an evacuated

container ?
feeami & fom g 1 & WA W dwfeus wwA
=W s quiaan fied fvd 79 = # Wl g2 ool g2 WS &A@ gAE F@ @l odl 87



=1

The ends of the two wires of a continuity tester are dipped in distilled water.
Will the bulb of this continuity tester glow ? Give reason for your answer.

T s e & S aX o ol 6 ergd Sa ® @ w21 Fn e wders
1 dod S ? A9 3w w HRu faf@n) 1

Some metals exist in nature in the form of their compounds while some exist.
in nature in elemental [ormm. Give one example of each kind ol such metals.

e Uil yofa § Afis wu § wf widl ¥ vafh oo @ syl s storar § g
T 21 TH I TER W dgel F TH-TE ISRl A 1
Suggest any two ways of conserving water at the individual level.

A Wew F Al TR W T W g awl i S fafwal geme 1

State the condition under which a piece of wood, present in air, can start
burning.

B W W@ g Th ARl F1 Thel fwg fefd H Sor U Y Eehdr @72 1

Mention the outcome if a human ovum does not get fertilised by a sperm.

qarsd| 1
Stale the unique [ealure ol viruses.
qEHY sl Sl faRivdl ddisdl 1
State the role of hiological nitrogen fixers in nature.
Tpfa § SAfaw TEaew feewd 5t gfiten @ e 22 1
The following table gives the values of speed of light in four different media:
Media Speed of light
Diamond 1.25 x 10% m/s
Vacuum 3 x 10° m/s
Ordinary glass 2 x 10° m/s
Water 2.25 x 10° m/s




10.

11.

(a)

(b)

Which of the above media has—
(1) least (11) maximum refractive index ?

Arrange them in increasing order of their optical density.

3 W fafus oo ¥ et S M &1 TH @ UER B e

(a)

(b)
(a)

(b)
(1)
(i1)

HIeAH YehTSl 1 TR
AR 1.25 x 10° m/s
bR EE I 3 x 10° m/s
stem 2 x 10° m/s
B 2.25 x 10° m/s

(a) S Hifewr o 9 fhus udds gawis

(i) = (ii) @fama 372
(b) 3w Hifsan &1 3Tk INfehad ¥ o d@d hH H oHafeefd sl 2

Name the part of the human eye that—

(1) 1s responsible for the characteristic colour of the eye of a person.
(1) gets self adjusted in size in different light conditions.

Where is the ‘blind spol’ of the eye located ?

AME @ % IH WA 1 AW FaEd S

(i) Frdl wafd =) sif@ 1 @ fuifa w2

(i) werrel &) fafuy= feafgel § s smer &l w@ifquifa w0 d@d 2

A StE 1 e (S ie) I9W #E g €7 2
Enlist any two tasks performed by artificial satellites.

State the advantage of the ‘same position’ of geostationary satellite relative

to surface of earth.



(i) oM 3wEl s fee T fFel < w@E w1 gaEg wial
(i) 7ot = T & Tmy g-fer s W ‘vw @ fafd’ ws w1 o s 2

12. (a) Draw a diagram showing the position of the pole star relative to carth.

(b) Name the constellation in which the line joining its two ‘pointer stars’

points in the direction of the pole star.

(a) Yt oF TNY ya TR H fafa @M a9 oRE TR

(b) =H dwmHed H1 ¥ fafed faues q gos a0 H1 AT delt T gd qu H e
F1 A 2 2

Alternative question for visually challenged students in lieu of Q. 12 part (a)
State the main feature of the pole star that makes it different from all the

other stars.

feeimi & fau 9 12 (a) & WA W dsfeus 99
¥ R HI 98 HBH @ qA favwar € S s o weft ani ¥ 3 il €7

13. Fill in the blanks in the following flow chart :

SYNTHETIC FIBRE
Types
| |
| Rayon I Wonder Polymer PET

Raw Also known Full form

Material ‘ as
|(i)— I |(ii)—| |(m)—|

One use

(i) —————




frafafaa gae o o foa o w1 af@-

ST HIER
PEAL
l ¥
R CIE] | AzadeHE HIZH
Feal T S L] R

v h
[H——] [Gi) ——— |(Gii)—————]
T IYAN
lGiv) ——

Alternative Question for visually challenged students

in lieu of question 13
Give answers for the following :
(1 Raw material of rayon :

(11) Other name for wonder polymer :

(111) Full form of PET :

(zv) One use of PET :
feemt & fauw w1 13 & WH W dwfeas g
frafafaas & s fafeEa—

(i) A F1 F=M TG :

(i) =St diefwy w1 g AH

(i) 932 &1 9U 99 :

(iv) WA =1 uH SUET .




14. Give reasons for the following :
(1)  Outermost zone of the candle flame is its hottest part.
(11) Midddle zone of the candle flame i1s yellow in colour.
frfafaa = #rm @R
(i) Hiwad &7 Soren i WG WA SEhl G99 afud T WM g g
(i) wHEd i Solel st W WA kI W dien B 2 2

15. Draw a neat and labeled diagram of an animal cell and label / encircle the
organelles responsible for :

(1) cellular respiration (i1) transport of materials in a cell

T3] 9ol 1 Tsh W qA1 Wifhd @ d9Ed| 596 34 9 &l ea/afid & &t =
qAd T HwE FW o
(i) =R v (i) W o "l &1 afEed| 2
Alternative Question for visually challenged students
in lieu of question 15
Name the organelles responsible for :
(1) Cellular respiration
(11) transport of materials in cell
(ii1) capturing food in case of Euglena

(iv) imparting colour other than green to different parts of the plant

et & faw w1 15 & WA W Awfoyw e
FIHET o 3T 9w Hw AW @ s FEfafes s wW@ g
(1)  HIeEHE ToEA
(i) =@ & @it o1 ufiesd

(iii) Frefr & wisH o %01 i THhEdl §

(iv) 9 o fafg= ami § &8 @ 9 = o= W @ 2



16. Label the parts shown in the given figure of human female reproductive
system.

(11)

= fe3 W™ AEdE A s gonel o faw # fafiy= ami o 9w adred

(i1)

- (1)

Alternative question for visually challenged students in lieu of Q. 16
State one [unction of :
(1) enzyme produced by tip of the head of sperm in humans

(11) hormone produced by human female ovaries



17.

18.

e & fau yva 16 &% WM W defcas 91

frfafaa 1 & ®E san-

(1)
(1)

(a)

(b)

(a)

(b)

(a)

(b)

(b)

UFEE IEh] o faR &t 9 9 3drcd Ul

qFad HEl HASHE g Iied 2|

Why is non-completion of prescribed courses of antibiotics considered

harmful ?

Name any two microbial infections that are treated by antibiotics.

Yesiferr (Tamifea) et &1 fuifa 7en & @@ ged T fEa S eiTeRe

= HET ST 7

yfqsifaes enst (TemEifesm) g Su=ifa Ry SH el o=l < Agshifsae Gwqol
o+ 9m fafe3) 2

State one special feature and give one example each of :

(i) tactual aids (i1) auditary aids

used by visually challenged persons.

Suggcest two precautions that help in ensuring that cyes don’t get strained.
I e wefom =afsaal g0 wam H @R ST S

(i) amRe weEs (i) @9 HeEHh

SYRI ol Uk foRlual den U 39 fafigd

FE UH F gEuEl Saed SositEl & dETE 8F 9 98 % ¥ WeEE d
T T 3

OR (&1ygarn)



Observe the [ollowing diagrams of human eye carelully :

Rays from

distant object 25¢m

(N~
\\L—

NN N

Case () Case (ii)
(a) Name the eye defects shown in case (1) and case (11).

(b) Name the lenses that can he used to correct the defects in each case.

(c) State the range of distinct vision of a normal human eye.

9 f@ ™ 99 ok feE W eamgEs <fed

freft 9 @ 3 A
et g8 e 7@ 25em
A )

Feot ) feetfd (i)
(a) 3+ feafml & fem ® sit@l & i &1 4w fafe
(b) =& w % FH A oW F AW wEEA|
(¢) UHh UMM HFG i@ o fafyre gfes &t G san)
Alternative question for visually challenged students in lieu of Q. 18

(a) Name the three main kinds of eye defects.

(b) How can these defects be corrected ?



19.

20.

feait & fau 9v 18 & @WH W A%feus wvd

fr=fafaa &1 s wd wai—

(1)
(i1)

(a)

(b)

(a)

(b)

(a)

(b)

(c)
(a)
(b)

(c)

el ® TF 9 dF wgE qm o+ Am fafed
3 QO Hl dFk wA Hi fofeEr s

Categorise the following electrolytes into weak and strong electrolytes :

Sodium chloride solution, Oxalic acid,

Ammonium hydroxide solution, Copper sulphate solution ox4=2

Name the two metals used as the positive and negative electrodes in a

voltaic cell. Vo+lho=1

=1 faga eaeedl &1 aa qen yao foga o1ueed (Soaeensed) | Jiiehd shifsd—

difeaq seliize diel, dlasifersh 3He did,

I TRESEFREE WA, FIR Tohe T
difeess T | oFIHE q TONHE foTEm (Seiagied) o fou g e arelt srgst
o 9 fafazi

State any two uses of chrome plating of metals.

Name any two metals extracted from their ores through the process of

electrolysis.

State the underlying principle of electricity generators. 3
g W A W ®H & HIE & S9N Sared|

SORIATTY &1 Ufhdl N AT 1&%h] ¥ el M arell & Jigsll o6 A sded |
foed S o1 Adaffed fagid saEdl



Complete the following observation table based on physical properties of metals
and non-metals :

Activity Observation Physical property
(1) Strike a small piece (1) (iv)

of zinc metal with a

hammer.
(11) Take some hot water (11) (v)

in a beaker and place
one end of an iron rod
in it. Carefully touch
the other end after
sometime.

(iii) Take some crystals of (111) (vi)

1odine and beat them
with a duster.

-

g3l SR TGS oF Wifde TN oF UR W FEfAied STaes diferR 0 hifsE—

Tifafafi SfereTeh s Tor
(i) & ug & B IHe (1) (iv)

W EAEN W W &1
(i) dffery & W 9t o @ik (ii) v)

w1 TE e =wEl 9l

[ aR] T e A
ZIEPCE
(iii) o & foea & (111) (vi)
AT 3T W T A
e gam| 2

OR (31¥En)



22.

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)
(a)
(b)

State whether hydrogen gas is liberated or not in the four reactions listed

below :

(1) reaction of zine with potassium hydroxide

(i1) reaction of phosphorus with concentrated sulphurie acid
(iii) reaction of iron with hydrochloric acid

(iv) reaction of copper wiith nitric acid

Ilow is evolution of hydrogen gas in a given reaction detected ?

7§ wasd [ (efatad =R wfafrast o gEgem 19 Wl el & SA"er wel
(1) vRREW eEgEs & |y S S kit

(i) wowrfeh sra o W9 WEHRA &1 wfdfwan

(iii) eIEeadilier ol o WY @l &I glidfchan

(iv) -isfesr w1 o g did &1 wfdfseen

§ T yfaferar F TESSA T % YId B FT A kY oAl Wi 82

Enlist four methods that can be used to make water safe for drinking

purposes.

Name any two water borne diseases. 3

=Rt fafimt saed S ST @ ot S i S IRe o gifia sAEn S s
2l
MM THET T " BM a3 | |l o T fafadl

Give two reasons why it is desirable that a fuel should undergo complete

and controllable combustion.

State the parameter that rates the efficiency of a fuel. 3
T FRor wad fF e Sem w1 gl ol e <ed #= A @2
U hi &l 1 (AUNOT T 9 9ESUS T AM wdsd|




24.

25.

Differentiate the two types of endoplasmic reticulum on the basis of their :
(i) appearance (11) function

Also state the reason for their observed appearance.

T YR o TSrahns feFod &

(i) ¥@&Y q«Aq (ii) =
¥ @ ddEdl EHiad @eY &1 wRo 9 fafed) 3
OR (31914n)

Give reasons :
(1) Nerve cells possess a long fibre like structure.
(i1) The cell wall is an important covering in plant cells.

(ii1)) Cell is the basic structural and functional unit of all living organisms.
FRU qAH :

(i) B FIREW o9 FEE ® e TdEd et o

(i) Wt afcr dief &1 Sifse s ggwgel SR 2

(iii) ¥@ @i Sifaq Sfiai &1 giEd geAers R wEfds 3HE @)

Comment on the followings statements :
(1) Pasteurised milk needs to be stored under refrigeration.
(11)  Vacuum packing is ecommonly used for storing nuts.

(iii) Food mustbe properly prepared and stored.

fefafad weo @ feoui wifsg .

(i) w=TEse g9 W ueiew (AFpR) § W v w2

(i) Frafa S (degm Afeh) wremvdar Ja (g€ we) o Herur o faw wann 1 S
%l

(i) @M @ fafaqd® AT 9O WeRw ST AEvdd Bl €l 3



26. (a) A pond appears less deep than it actually is. Give reasons.

(b) Complete the ray diagram :

wident ray

Glass Slab

(¢) Enlist two observations as a beam of white light passes through a glass

prism.

(a) 2 aoTE AT ARdfaE TR W OHH TR REE @ 21 FRU i
(b) TTU 3@ <kl QU wHitSE—

\ch’mﬁm

7irEl & ufear

(c) THS UIHT o YHWI IS o M9 & 50 § e W 99 8F ae & TaaieHl
H gAEg wifed| 5

Alternative question for visually challenged students in lieu of Q. 26 (b)

Define the term emergent ray.
fgart & faw v 26 (b) & WM W Awfead T
sTfawfet (wawste) famo 1 ufsfom i
OR (1eran)

(a) Draw a ray diagram showing the formation of image by a convex lens
when the object is kept between its optical centre and focus. State the

nature and size of the image formed.

(b) State any two applications of spherical lenses.



27.

(a) Tt e *1 th &3 ™ U@ 99 & gfe &x (siifewa &=) da wHd
W W T B 39 fefd W a9 o uidfa o fon Ywifas wmed) e 9
yfafena &1 GHR a9l SAHR hdl Bl ©?

(b) TR @ o & A FEAN T3]

Alternative question for visually challenged students
in lieu of Q. 26 (a)
State the nature and size of the image when an object is kept :
(1) at the 2 F point of a convex lens

(11) between the optical centre and focus of a convex lens.
el & faw 9 26 ()  TE W Awfedd Y
ufdfaral o WHR qO1 BN oh 9N W waEd dfc O H fEd S99 o™ oh-

(i) 2F fag ® @ ™ 2

(i) e g (3feHha =) T BT & A Wl T 8l
(a) State any two ill effects of noise pollution on human health.

(b) How do people wiith hearing impairment communicate with each another ?

ic) Define the terms :
(1) infrasonic sounds

(i1) ultrasonic sounds
(a) WMA W W I YUl o6 his & FHHM SdEdl
(b) &H W AW @M AUE § HaE hd #wd 22
(¢) (i) omaEa (sTrEf) et
(i) oqerEd (STdwieh) eatEn
gRefa wifs) 5



28.

(a)
(b)
(c)

(a)
(b)
(c)

(a)

(b)
(c)

State the parameter that defines the reactivity of an element.
Explain displacement reaction with an example.

Give reasons :
(i) noble metals retain their lustre for a long time.

(i1) pure gold is generally not used, as such, for making jewellery.
Tk dwd sl GfAfehameierdl 1 THefed 3 o AFee 1 9M «dEd|
T 3 & Wy farermm ufafen =+t =men #ifss)

FRO TAEA

(i) e ugstl wl THe o GHF a9 @dl ®dl el

(i) Yol G T H SR 999 o fau qEmeeen yged T8l feEr S 5
OR (3t2an)

Match the metals, or non-metals, listed in column A, with their uses listed

in column B :

Column A Column B
(1) Iodine (1) batteries
(i1) Platinum (i1) aircraft body parts
(1) Silver (111) electrical cables
(iv) Graphite (iv) dentistry
(v)  Aluminium (v) antiseptic
(vi) Copper (vi) high precision electrical contacts
in computers

State the advantage of stainless steel over iron.

Write the composition of German silver.



(a)

(b)
(c)

(a)

(b)
(c)

(a)
(b)

(c)

sictH A W feu U wigell stgar stuidsdl o1 faed siam B A KU 1w 396 Syai
q =ifa
wHieM A FaH B
(i) emEE i) ==l
(i) A (i) BAESESI & N
(iii) =< (iii) ot ®1 AR
(iv) TohTee (iv) g7 fafean (=)
(V) TgEEH (v) WY Ay (TEEfe®)
(vi) dre (vi) ¥R o FH e TR F A

I W & Al ¥ sl d@l WEl Sl ©?

S foeer wW @ oage & fmo @ a2

“Plastie 1s harmful for environment.” State two points in support of this
statement.

List two measures to control damage caused by plastic waste.
Ihfferentiate between hakelite and polythenes on the basis of :

(1) arrangement of monomers in them

(11) effect of heat on them.

“wfed dEERT o fau eifteRe @17 39 &A1 gfe B 4 dua fafad
wfed A BH ant wfE o a9 % 2 ddes @aed|

Jhese 3R WelfH ¥ 7 i & ER W A@ Sy

(i) 399 AW & e

(11) 9™ <1 39 W W9 5



30. (a) Arrange the following in correct sequence of stages of their development:
Infant, embryo, zygote, foetus

(b) Differentiate mammals from amphibians on the basis of the development

of their young ones.

(c) State the meaning of the term “indirect development”.

(a) Tr=fafga st =t foem & =i & el wn § fafed .

R, 9u (Wiew), oA (SE9e), wHardl (Taue 1)

(b) wWAuRE wd I9gEl &) 39k W (U oFH) o (ohiEehH H Il 3 87

(c) ‘‘swer famm! w1 o1d Ty wifww) 2+9+1=5

31. (a) Complete the table as per the given directions :

Name of the Name of the Funetion of
gland hormone scereted the hormonc
1. (1) (ii) Growth and

development of body

2. (111) (1v) Onsct of meta-

morphosis in tadpole

3. (v) (vi) Lowering the blood

sugar level

(b) The phrase ‘Just Say No is a part of ‘Say No to Drugs’ campaign. Comment

on the aim of this campaign. (State any two points).



(a)

Ja T arferer w1 fdER 9@

Teft &1 M Tl ¥ o 9 BAN &1 &
TEM &1 AW
1. 1) (ii) IR 1 faewE
2. (i) (iv) dSUlel H HETIeS
S PHA
3. ) (vi) = H UER S A
I

(b)

(a)

(b)

(a)

(b)

Sy fam @ oFE (‘'S ¥ A) Y‘ars wgdl w3 w2 (‘8 A 2 g™

fiEm w1 WM B T AfaIE % i @ Hewyu ged/sevd sdiEd| 5
OR (=1%r@n)

Describe in detail the following changes that occur during puberty :

(i) Change in voice

(11) activity of sebaceaus glands

Explain, how the sex of the child gets determined when the ovum gets

fertilised with the sperm.

Tl ¥ g o frefafed 9ieda 1 v ifed

(i) ofEr d <9<

(i) s ufwl =+t wfafafesr

e HifsE : efeRE qen YR ok e gR1 B At g o fom ke freifa
& S €2



Paper 4

Maximum Marks : 80

Deafness implies total hearing impairment. Name the technique used by total

hearing impaired (deaf) people to communicate with others effectively.

TEUT kT AY YU FEUENQ 21 Fau eHar yefon (SeY) cAfkEl 3N wwel ®9 9
T % WY HAK ®wH & AU Wb s WH aelt asdie o1 AW fofe) 1

Acidified water is electrolysed by using graphite electrodes. Name the gas
produced at :

(a) Positive graphite electrode (Anode)

(b) Negative graphite electrode (cathode)

sTiteha 9l 1 faga o eed (SORIfafad) UwEe Ioideisl &1 ST Hieh R Sl
2l W UEA ¥ (a) e aw (b) Heie W fwed ael W % A" aaeu) 1

An alloy, having aluminium in it, is used for making aircraft bodies. Write its

name.
e fufda urg, fomd uegfufian o @, %1 3ud eadsest & g 9 § e s
2 =9 fufsa uq ®1 9w fafed 1

Name the two major sources of water pollution.

I S OYgUUl o R YH@ T o AW faRad) 1
Identify the type of combustion that takes place when sodium is exposed to air.
T 4 T W Hifend & wfad @ W % %8 #OWER PN FEA 7 1
Name the gland which controls the secretion of testosterone from the testes.
Y (FN) § SRR eEH b W@ & | e At iR & 9w faean 1
When do viruses show the characteristics of living organisms ?

faum osfta (S wigell) & fa9w e e <o 22 1

Name the disease that caused the Irish Famine in 1740-41.

39 dmEy w1 A9 fafed So1740-41 o Efer S &SR0T 9491 1




10.

11.

12.

A ray of light enters obliquely into water from air. How does the ray of light

bend in this case 7 State the reason behind it.

TFY H TF 0 B ¥ UH ¥ TS wow S 21 =@ Uik ® wsmw &7 feEw
F8 HEdl 2?7 TWHE FNO F T 2

The retina of the human eye has a large number of light sensitive cells, known

as rods’ and the ‘cones’. State the main function of these two types of light

sensitive cells.

Tt @ @& gfe vew (o) W ‘We’ qun ‘e A g WH ST aTel STEE Yot

TSNS HIRTHIG Bl &1 7 Sl WhR HI Wh19 Taeaviie] IR o TeT HE =y
2

Identify the following :

(a) The planet having largest number of natural satellites.
(b) The comet, which visits the earth every 76 years.

(¢) The third brightest star in the night sky.

(d) A constellation shaped like a (distorted) W or M.

fr=fafea &1 vgem &i—

(a) Had sifud Urpfds IWEl aren UE

(b) ¥uehq/FMWe S YOF T6 Wl 5 HE B 9T war gl

(¢) Td o AW H dE0 999 FHhien anl

(d) TF TEA (AOEVESE), S AT F R W sgar M & fang (fapa) ®W S0
femrd 2@ 2 2

(Geostationary) Satellites have revolutionised communication. How do they
perform their task ?

(9-feorfig) Suwel 4 §uR & &% § wifa on 4§l SWE AU %@ fRE yeR w

27 9



13.

14.

15.

16.

A silk like fibre X’, made from wood pulp, has properties similar to those of
(natural) silk.

(a) Name the fibre X’ (b) List any two uses of fibre X’
(wrpfaw) W o FEE YO 9wl Tk @0 X oS! # el § s sl @)
(a) 39 W (wEeR) X & 99 "agdl  (b) 3§ W % Wiz o syam faf@a 2

Give reasons for the following :

(a) If the clothes of a person catch fire, the person should be immediately
wrapped in a thick blanket.

(b) Burning of coal and diesel causes acid rain.

frefofad & SO aaEa—

(a) 9 fodl =afea o wusl * AW o WKl ¥, o S [a W ohee § wuel S
=feul

(b) FFE @ o F Ted TRAT RN (acid rain) F OFROT OS2 2

Mention the name and size of :

(a) The smallest cell in the living world

(b) The largest cell in the living world

I & W N WHR % AN W wad-

(a) WSTE N = TIH Bl HIEH

(b) wSa g & "™ a1 FHIRTEH 2
A new individual can be formed from a small protuberance arising on the
parent body.

(a) Name the type of asexual reproduction in the above case.

(b) Name two organisms that reproduce by this method.
TIF YR W T A UF B W AR Y TH A WA F A E T 2

(a) Y AT oAT 1 AW =arEd|
(b) Y T el & AW Fa=d, S W YRR ¥ ST w0 2 2




1 /A

18.

Vaccination is an important way to build immunity.
(a) How does a vaccine produce immunity to a disease 7

(b) Name two methods of administering vaccines.

I gfdd WE SN % A dEmRm T mewn s @
(a) w1 frdl & & Ul WfoUusal ohe  Scd Y B2
(b) FFEW HH S F IUE  FaRdl 2

Eyes are our ‘windows’ to the world; it is, therefore, very important to
take good care of them. Suggest any three precautions to ensure proper
functioning of human eye.

s g F fou e ‘fasfEEr ¥ wwftu SRl ol d@EWE O
Hewaqul B WHE i@l o Sfud wHEN %l gHed s o fow wig
et ged

o I 4

OR (31¥4n)

A middle aged person is not able to read a book when it is held

somewhat away from his eyes.

(a) Name the eye defect, from which he is suffering.

(b) State the two likely causes of this defect.

(¢c) How can this defect be corrected ?

UF O A H1 s AUl @l ¥ $w gt W W gEe # Ug
T oW W R

(a) I@ I <9 w1 AW fofmy, fwew =@w difga #

(b) 3@ FF =W & q HUMAd FNO  FAEU

(c) =@ <@ w feg wkr diw fEw w1 ww@ w7



19.

20.

21.

(a)

(b)

(a)

(b)

Define the terms :

(1) electroplating and (11) electrorefining

Name the cathode and anode used in electrorefining of copper. 3
() fage @m @R (i) fEE ot #1 ofonf@ #isa)

ad % foEg TR ¥ WEE ER A SEie R THE % AW fafad

Describe an experiment to show that we can get electrical energy by using

a magnet.

TE UH WM #w gue Hifsg W A fmmn ¥ OfF ' gaw w1 STEN @k
foga o W@ W EHET R 3

(a)

(b)

(a)

(b)

Arrange the following metals in increasing order of their reactivity :
A] 3 Pt [ ] Cu 5 Na

From the following displacement reactions, which one can take place in

actual practice ? Give reason in support of your answer.

i) Mg + CuSO4 S MgSO4 + Cu

(i) Cu + MgS50, —— CuSO, + Mg 3

frfafaa ugel =1 S9! Sif9fohar &WaT 491 oF dgd %9 W (A@U
Al ;, Pt Cu, Na

frofafad facams femed § =19 o foFen arafas =mEer § & g+dr 27 3™
TW F guHT ¥ wnRv fated

(i) Mg + CuSO, ——» MgSO, + Cu

(i1) Cu + MgSO, —— CuSO, + Mg



22.

23.

24,

25.

Enlist any three changes in the normal properties of water, which ean be used

to recognise the presence of pollutant in it.

It SF W T O Rl T T 9REdd ) geEe F A FE UE ¥ YguE

F1 SurEAfd w1 WMY % fow fEE W1 gear 2| 3
OR (&1yan)

Suggest any three simple steps that can be taken, to avoid wastage of water.
Tl #1 &g (SFEEl) T4 & fau, S dH Wa 3uE guEd|

Mention the three conditions that are necessary or required for combustion.

@H () W S HUdl "o ©4 oh fou diF ereeas feafeal @drd 3

Write the function of following parts of a cell :

(a) Cell membrane

(b) Smooth Endoplasmic Reticulum

(¢c) Leucoplasts

Fifeen & fefated femd () % #E fafen

(a) “ifdrR1 fereet!

(b) Tt wweE s wfas (Smooth Endoplasmic Reticulum)

(c) TIRIAEH 3
OR (&9ET)

Write any three differences between a plant cell and an animal cell.

TF URY HITE AR Um W Fe § & dH s e

(GGive reasons for the following :

(a) Jams and jellies are usually preserved using a high concentration of sugar.

(b) Milk is boiled before its use or storage.

(¢) Foods, from puffed or enlarged cans, should not be consumed. 3



frefafen & #ror g

(a) W 3R Soft wm: ofus S W wieh@ R ST @)

(b) 39 H VAN A WIE FH § UG IAmN SN gl

(¢) el BU, A MHR ¥ WA ¥ d¢ BC, €4 oF @A URIA &1 Tad T8 &
S =1Ew?

26. A lens forms an erect, magnified and virtual image of an object.

(a) Name the type of lens

(b) Where is the object placed in relation to the lens ?

]

(¢) Draw a ray diagram to show the formation of this image.

TH e TREl o 1 g, seds (SR W wgl) iR Wl wfatas sEmn
(a) o9 o FER w1 A9 faredl
(b) =&g # w@ % " # FwB @ ™ R?
(¢) 3® yiafos fFHio =1 <A o fou o f&or e oAy
Alternative question for Visually Challenged Students in lieu of Q. 26
Y HE N 26 % M W gitesrya faentdE @ faw dwfeaw WA

Complete the following table :

Type of Lens | Position of Nature of Size of
Object Image Image
Convex Between optical (i) (i)

centre and focus

Convex At focus (iii) (iv)
Convex At infinity (v) (vi)
Concave At infinity (vii) (viii)

Concave At any distance (ix) (x)




217

—

~

fefefed e (ARel) =1 g0 -

(a)
(b)

(e)
(d)

(a)
(b)
(c)
(d)

(a)

(b)

oy w1 yEn | g% w1 feafa yfafara =1 yfafema @1

Yehfd HATHR
39 o9 ‘O T F d= | () (ii)
ITA AW wEE B W (iii) iv)
EL G| #Hd (infinity) W v) (vi)
A T T W (vii) (viii)
FIaA TH ol ot 3§ ™ (ix) (X)

OR (&yan)

Define dispersion of light.

Which colour of white light gets deviated (i) most (ii) least by a glass
prism ?

State the basic cause of refraction of light.

‘A part of a pencil, under water, appears bent with respect to its part
above water.” Give reason for this observation.

yHRNE WA A fadsw (ferwviA) &t ufitwifod =i
THE T F A W @ e @w () 98 afuw (i) 999 % fE=fad @ar 82

GRTel o TEdd 1 T HRO Tl

“qrit § Tt g URaer T 9HT o SIS T WM 9T o SO oTel Wi 9 HST g
fa@ar 21" 30 EdiwA H FRU FaEd|

Sound plays an important role in human life as it helps us to communicate

with others in our daily life. Describe the mechanism of production of
sound in human beings.

Define amplitude of vibrations. Name the characteristic of sound which
depends on its amplitude.



28.

(a)

(b)

W e Sied W Tk weeul g e funt € @it 3 e w2 S
¥ gl o WY A R Ghd B 97 W eafd o Scaed &1 foRaifaty @1 el
wHifst |

9 o AEM H YRAIYG HL eAH F W fawimar (qU1) w1 AW Sasd S 39H
am W R Fw R 5

Compare the properties of metals and non-metals with respect to :

(a)
(c)
(e)

Thermal conductivity (b) Boiling point
Reaction with oxygen (d) Reaction with water

Reaction with acids

MIqe ST TGS % TN H g Al (e fawwarst & med ¥ wifsd .

(a)
(c)

(e)

(a)

(b)

(a)

(b)

FEH  ETeshdl (b) wEUAH

FAlie o @Y s (d) 9 % wre st

Il (qE) W wiy o s 5
OR (=r2En)

Explain the three main steps involved in extraction of a metal from its
ore.
‘Noble metals retain their lustre for a very long time.” Give two reasons

in support of this statement.

AW AT (MIGH) § g ok G (Terdm) o fau v d9 ger =
EIRREE ]

“Hed e aEd @ THA @ AT SEe S @d 21 T s % wwdd
3 wru fafted)



30.

(a)
(b)

(c)

(a)
(b)

(e)

(a)

(a)

(a)

(b)

Write the full form of PET.

Name the type of plastic used in making handles of frying pan. Also state
the reason for this.

Choose the thermoplastic and thermosetting plastics from the following:
Melamine, Polythene, Bakelite, Polyvinyl chloride
PET (4 % ) &1 @ (¥9) W fafea)

HEN U9 %1 229 o9N § WE WiRe® % UHR 1 AW foREdl sue wrul
ELiER]
frafafes § § gdionfes o gu@fen wfes Br—

HefHE, difeifa=, sodee, didifansd Fiss 5

Give reasons :
(1) Fertilization in humans is an example of internal fertilization.
(i1) Earthworm is called a hermaphrodite animal.

Enlist any three changes that take place in the tadpole during its
metamorphosis.

FNOT AR

() g § foem fopan oridfies o= &0 ©H IR @

(i) ogeti swafm wig wer W @)

IeUd % FHAEMU % A B Al dF aEad G|
OR (&¥=n)

Write the function of the following :

(i) Oviduct
(ii) Owvaries
(111) Tip of the head of sperm

Write two points of difference between oviparous and viviparous animals.



31.

(a)

(b)

(b)

(a)
(b)

frefafea & #@ FaET -

Teaafet

e

YT % fa @ HE WM

WS Vgl @ EySE wqel  ° ¥ faead sarEdl

Give reason : A male plays an important role in determining the sex of

a child.

5

Enlist three events that occur in the reproductive phase in human females

if fertilization does not take place.

HUT FAEY : aed o fon fAuion o gen w1 gfie mewgel @@ 2

fro=a 5 e & frafa § ame @) &t gsEdE sEEe | gR ae dF e SgeAe

H Yeag HifSl

5



Paper -5

Maximum Marks : 100

1.  Write one word for the following statements.
(@) TheS.IL unit of frequency. 1

(b) The constellation on which three bright stars in a row can be spotted on

a winter evening. 1
(c) Removal of anthers from a plant. 1
(d) The single cell formed when sperm fuses with the ovum (egg). 1

=1 sfasmer & fou ©F w= fafem -

(@) ST =1 THAE A

(b) @ T e FS9H IMaeal &1 IMT I 79 T9HaR aX T AT J @
o HFA 2

(c) W& H TETHIT H B

(d) TTHTU] AT TUSTY] & Fod W A o] T BTl

2. Fill up the blanks.
(a) When we throw a ball upwards, it falls down because of
force. 1
(b) Plastics which can be recycled are called

(©) is the main ore of Aluminium.

=

(d) PPLO is also known as
e T 9RY -

(a) T FH AR HH T AT F A RT F FRO E i
(b) o wifes 58 ga: =fed fwan s g 2 FEAT Bl
© T w1 e sEEs 2

(d) PPLO I Tff el ST 2

3. Choose the correct option :-
(a) The nature of lens in human eye. (convex / concave) 1
(b) The gas produced by incomplete combustion of a fuel. (Carbon monoxide
/ Carbon-dioxide) 1
(c) Crops that grow during rainy season (Rabi crop / Kharif Crop) i
(d) Responsible for determining the sex of the human child (Father / Mother) 1



4.

el fowed =1 =9 Fifem -

(a) AFE T | UMW WM a6l @9 H UHid (ST / Addd)

b) frddl o4 @ syl ged @ s e aiell g (sdd HHlewge /
FHTAT-SE-SATHEE )

(c) = kg ® 3T S wEA (W T / BE w6a)

(d) AFa gafq & fam = fauior @ aen (T /7 @)

Answer the following questions in short.

(a) Planet Jupiter shows its own colourful bands. Justify.

(b) Give any one purpose of purification of water.

(c) Pure gold is not used for making jewellary. Why?

(d) Classify the organisms on the basis of cell number,

= el 1 wem ¥ s fefag -

(a) FEEId UE AT TF i T dgai g war g1 gfte Hifem)

(b) VA ® AfSFOT H1 FE TH 9FeHE foran|

() HEU S & ToIY Y W T S9EnT @l R S €1 wwr fafem)
(d) HIVTH & & IR W Sal 1 IO HITe|

Define Non-contact forces. Give two examples of these types of forces.

I Al i g fafeul 39 v & 9ol % |1 3| i)

State any two characteristics of liquid pressure.

Ze™ @ w1 Hrs A fawiman adE

(a) Define electroplating.

(b) During electroplating which of the following are made cathode and
anode.

(i) the article to be electroplated.

(ii) the pure metal which is to be coated on the article.

(a) Togaet =t 9fiam fafe

(b) fogemm ufsw=n o fra & § f5g Soe von f5d U o= S @
() 59 a9 W for@ o9 e s 21
(i) YE-+1d fSo= a i o/ W =g S 2

State the functions of rod cells and cone cells found in Retina of human eye.
e 99 % e ¥ U 9H arell T HIvEmed a9 i Sieewst & w1
et



10.

11.

12,

13.

14.

15.

Give Reason for the following :

(@) Water does not exist in liquid state on mars.

(b) Comets are visible only when they are near the sun.

= & fau srw ffew .

(a) TA TE W WA (TT) T oA H TE A €

(b) FWeG wad ol f@E 3| € 59 9 g % fehe B 2
Differentiate between meteors and meteorites.

STHIST A IohNus] & HEF 9 shifem)

4.5 Kg of a fuel was completely burnt. The heat produced was measured to
be 180,000 KJ. Calculate the calorific value of the fuel.

4.5 Kg (fhaiam) oM =l quiqan S 731 3= S 180,000 Taetisa
o TS| $EH W S wE Y aieRie it

How does domestic sewage lead to death of aquatic animals? (Write any two
points)
] Al Sel, Sed™ FgAl 1 G F HRU FG YR 97a1 2?2 (g 7 fag
fafem)

(@) What is lodging?

(b) Itis advised to minimise the use of fertilizers. Give reason.

(a) T fFe Fed €7

(b) AT 1 TTAN AUTITT FH FE FHI IO A @ S 22

(a) Why do we add phosphoric acid to carbonated beverages?
(b) Name the bacteria found in the roots of leguminous plants.
() BH FEMTE T § BERIRE T F S o7

(b) SIS dIE T STEl H 9w S AT o] o AW o

Name any two endocrine glands and the hormones secreted by them.

=l o ot afert & M qen S99 w=faa s % 99 fafEm)




16.

17.

18.

19.

Enlist the four changes that occur during puberty.
AN F A T AR AR GREdH w1 Seord Ffgl

During the experiment on Electro Magnetic Induction, what is needed to be
done to

(a) maintain a steady flow of current.

(b) stop the flow of current.

(c) increase the strength of induced current.

foRT ™ TR0 W WERT I % SRE 91 e S ey, e
) o=@ e far fdt ®F@e = warfeq 2 ©I

(b) Taga =10 +1 v=® % 8 Ml

() e foga wm =1 wifdm & gfg =0

(a) Draw the ray diagram of image formed by a convex lens, when an object
is placed between F and 2F.

(b) Define optical centre of a lens.

(@ TF faa fFeft s9a &9 & F oI 2F & WeT T T € 3 fefy F A
o Wit w1 TR s it

(b) W % gk hy 1 g fafen|

Alternative question for visually impaired students only in lieu of Q. No. 18(a)

U 18(a) % WM W shad gie arfud faenfeal & fog awfeas woa

(a) State the position and nature of the image formed by a convex lens
when the object is placed beyond its 2F.

(a) U oa SOl o9 & 2F 9 W @ T 2l 3 el ¥ ofg gm fAfHa
Safara 1 feafa wE TR fafaEm)

(a) What is hypermetropia? State the two causes of hypermetropia.

(b) Define power of accomodation of eye.

(@) < gfic <t =41 82 3@ <9 % IUA BH % & wET fafe)

(b) 3 st GHeA &HA i gRwm fafe)



20.

OR ( Ag9a1

Name the part of eye responsible for the following :

(a)
(b)
(c)

Colour of eye
Providing protective layer of eye

Screen for formation of the image

M 3 & $E W %1 AW fatey St @ fon s €

(a)
(b)
(c)

(@)
(b)

()
(b)

EERCL
T3 I & WG STAS HIA
Bfg 97d

Draw a well labelled diagram of a candle flame.
Name the zone of the candle flame which is :-

(i) coldest (i) hottest

Hrast ] STl &1 A9 =3 99|
el 1 SeTell 1 $IF 1 &5 ((9)

() HaY &9 TH B Gi) weifess T 2

Alternative question for visually impaired students only in lieu of Q. No. 20(a)

WH. 20(a) F M T Hael i arfaa faanfa & fau defeas woa

()

(a)

()
(b)
()
(b)

(1) Name the zone in which unburnt wax vapours are present.
(i) Name the zone in which a copper wire gets red hot

S & SS9 &3 H1 AW fafeng

() 99 fo=1 S oW & Ay IufEed B e

(i) T59H &R H 90 T FH W o 8 6@ e

OR ( A9d1)

State two ill effects of incomplete combustion

White phosphorus catches fire even at room temperature. Give reason.
YUl TeF & FE T EHERE gwE fafen

Y% HIEHRE F& & A90H G 9 AN GHS ol 81 FHRO L)



21,

23.

24.

(@)
(b)

(c)
(a)
(b)
(c)

(@)

(b)
(a)

(b)

(b)
(@)
(b)

(a)
(b)
(c)
(a)
(b)

(c)

Why are gold and platinum called noble metals?
The purity of gold is expressed in terms of carats. What does a carat
mean?

Name an alloy which is used for making medals.

AT AR wAfe Hime’ Sy = e €7

G T S e H A S @1 U R O N €7
Hed 3 H 3TN T Al U AfEa eig 1 AW fare

State the 4R's that should be practiced to save the environment from

plastic waste.

Write two advantages of using synthetic fibres.

TAERUT T WAl wEt U g=H Bq BW b ¥ =N R SV Rl
arfen?
F9 W F ST FH ® I @ fafEm)

Why is water chlorinated in the water treatment plant?

Write any two causes of water pollution.

3 el ST WEA H WA el FeAl go o4 TRl ST 82
S YUVl & I & FRUT fARE|

How is food poisoning caused?

Name one bacteria and one fungus causing food poisoning,.

State one way to prevent it.

‘e faeea’ fee gER g 22

TF SA] R TF FAw w1 A9 fafen o wRm @ faerws
e 2

g fHaro w1 s sUE fafau|

OR ( 319dr)



25.

26.

27.

(@)
(b)

(c)
(@)
(b)

(©)

Write three functions of female reproductive system.

Define bioaugmentation.

(i) Name the biological nitrogen fixer which fixes atmospheric nitrogen
in rice fields.

(ii) Name the organism which fixes atmospheric nitrogen in the roots
of leguminous plants.

How are the bacteria, present in the large intenstine, helpful to us.

ARSATH=IE H g fafeg)

() U Sferk g TEdiehto &1 9" fafae =i aFEvesdE Agesd
F T F Gd H TeeriEn F

(i) 39 Sfa @1 W fafen st 7 F 9 ¥ agHvEe™ g &
feer e 2|

T e W WA A dedfEn (Siem) s far fFE ousn

e 2

TR W99 99 & dF TS 1 Sedd el

(a)
(b)
(@)

(@)
(b)
(c)

Name any two minerals that are usually low in the diet of teenagers
Define menstruation. Why does it occur? 3
e & 999 o %9 9E ° U 9 a9 Rl @ ats 9=igl % AW
fafem|

®QEE &1 GRE fAafEn) 359 81 F HRU FHAEY

Define absolute refractive index of a medium.

State the correlation between refractive index and optical density.

Why does a pencil appear hent when it is partially dipped in water.
Explain with the help of a diagram. 1+1+3
e mem % Uy sToadaie &1 g fafe)

fruer SATadaiF 9o TR WEAl & HEIH HEEdy oFe Hite|

Sl W ATk w9 | galu SH 9 UF fHe el g3 99 gaid el 22 U

A H HEEd ¥ OHEEy




28.

Alternative question for visually impaired students only in lieu of Q. No. 27(¢)

UH. 27(c) % T UT chael gite wrfyd faenfyai & fou awfeus woa

()

(b)

(©)
(@)

(©)

(a)
(b)
(©)

()
(b)
()
(d)

(i) Write any two characteristics of the emergent ray when ray of light
passes through a glass slab.

(i1) Under what condition does a convex lens form a virtual image.

(i) 9 Uk WehI9l 1 TR0 ARGERR Hid & Tid § ToNdl @ qF T

forror =t =i =1 fafimeae fafem
(i) fFa fufd o #1% Sae o/g U 9 giafera s ?

Describe an activity (without diagram) to demonstrate the effect of
frequency on the pitch of sound.

We hear the thunder a little after we see the flash of light though they
start at the same time why?

What is the range of audible frequency

e % A T SHH! G & TG F S e OF {harwens &1 goH
=it (e Tarfem)

T dREll & e @l g fasiell & wegdd & Uit W AR gAE adl
21 = fafam)

g AT 1 TE 1 8?2

OR ( HAIdET

Define the term 'Echo’.
What minimum distance is required to hear an Echo?
State the difference between noise and music.

Suggest two methods to check noise pollution.

g yraEA Wi IR wifer

gfaeaf o 3 &g =9 O F B =fE

i T YR ¥ eR fafen|

3 ggueT 1 Hfd FH * & SUE N gIE S

3+1+1



29.

(@)

(b)
(©)
(a)

(b)
(c)

(a)
(b)
(c)

A mental 'X' turns blue colour of copper sulphate (CuSO,) solution into
colourless. A brown coating is observed on the metal 'X'.

(1) Identify the metal X and the colourless solution formed.

(i1) Name the type of reaction involved.

(i) Write the chemical equation involved.

Name a liquid metal and liquid non-metal.

Name a non-metal which has lustre. 3+1+1

T 91g ‘X' &l FIW Fohe & faoma § e | 98 39& Aid T &1
TR F A € A A X ® SR R W W WA W T R

(i) =g ‘X' q° VEE faeEd &l e

(i) I% fFg yFR *7 AfatEa 2

(iii) 39 ATHRA T THAFS U falEu)

T 7 91 U9 UF 79 g F1 W fafen)

T AU F1 AW fafEy s =THwER B

OR ( 379€@T)

Why is sodium metal kept in kerosene?

Name two metals which do not react with water at all.

On burning a magnesium ribbon in air, a powder is formed.
(i) Name the compound formed.

(i) Write the chemical equation for the reaction involved.
(iii) State the nature of this compound. 1+1+3
difegn w1 HUHH F =6 w@n s 2?

wd | YA 7w a3 Oges # AW faten)

T TP HIA A § Seld W Tk U8l 9l 2
(i) = S AT % am fafe)

(i) TH A Ea % fou Wt gHE fafen)
(iii) 39 AfTF HI yHia fafEm)




30.

31.

()

(b)
(c)

()

(b)
()

(b)
()
(d)
()

(c)
(d)

()
(b)
()
(d)

Give reasons :

(i) Nylon is used for making tyre cords

(ii) [tis advised not to wear synthetic clothes while working in kitchen.

Write the full form of PET.

Name the synthetic fibre that :-

(i) resembles wool.

(i) is used for making surgical products. 5

FRU TAEy .

() 2P e 999 B AEAE 1 YA fHAr S el

(i) TOER H M w0 GHF G W ° 59 o A U8 1 g
fen s 2

PET &1 90 7 fafeu)

39 FHM W[ # AW fafen S

(i) ¥4 F We Tl 2

(i) ¥oF K SAH H THEM TR Sl e

State two differences between plant cell and animal cell.

What changes occur in chromatin during the cell division?

What is the function of chromosomes?

Which part of the cell contains cell organelles? 142+1+1
&Y HIRTEH ST Sq HIRERT | & =R TaArEy

Fiferent e & =g wWfe § ffg g % fedd ufa @k 22

FHEH F T TFE 87

HigER & fFE 9@ § S & fafv= e e e 872

OR ( 319dT)

Why are plant cells more rigid than an animal cell?
Give functions of vacuole and Ribosomes.
Name the cell organelle where cellular respiration takes place.

Name the term used for protoplasm of the nucleus.



32,

(a) WIS HIVTHI, SI=1 HIVR T go | ge b Bt B2

(b) T wHifvre o Rfsae vd e & w7 fafau)

(c) SH HIHT H 99 faf@y Sl F9Eg 3997 e 2l

d) ®=F & Soged & fau @ fFy S 9« 95 %1 9m fatEn)

(a) Differentiate between asexual and sexual reproduction. (Any two
difference)

(b) Explain the process of Binary Fission, with an example.

(c) Name one hermaphrodite organism. 2+2+1

(a) STOIFTH TF ofTeh S99 § < T s

(b) fg@ea s fafa =1 sgewor afeq avi= &It

(c) Tl ws swafan s =1 9m fafag)

Alternative question for visually impaired students only in lieu of Q. No. 32
UH. 32 % M W shad gie wiivq faenfdat & fau dwfeas wwq
(b) State two conditions necessary for external fertilization and external

development to succeed.

(c) aEA THU=F ug wed faFm #7 Fhew g w Ated uffeefar
ferrem|




Paper -6

Maximum Marks : 100

Write one word for the following statements.
(@) The S.I unit of frequency of sound. 1
(b) The type of combustion, represented by burning of white phosphorous
in air at room temperature. 1
(c) The revolution that was brought about in India in 1960's to increase the
production of food grains. 1

(d) The chemical substance that controls the changes at adolescence. 1

Frefarea sifyweml & fou s v fafen -

(a) =AM H A HI TH.3TE. AH

(b) THT HEHHH &1 Hel AN W Tl WH T BH aie %87 & THR|
() YRG ¥ a9 1960 § T diei 1 S7UEA 9@ & fow &% & il
(d) THyRmETen ¥ gF i 9Radql &1 FEtm w3 9 gaEts 199

Fill up the blanks.
(@) The speed of anobject ~, when force is applied in the direction

of motion. 1
(b) A ray of light passing through of the lens, goes undeviated

from the lens. 1
(c) Tlastics are as they do not decay easily by natural processes. 1
(d) Stoppage of menstruation is termed as ; 1
fa v wfT -
(a) T 1 T HT WA Hi K H TCTH R IH T FH =0

B W B
(b) TH @H & H ¥ yav FW et TF ghE-TEo fom 98 @ "

# ® fra w2
(c) T T FfE 3 WHld® THAe g Wead 9 SEted

T =l
(d) BqEE % TF TH F ___ Fed 2




3. Choose the correct option :

(a) Gravitational force and electrostatic force are examples of (contact

forces / non-contact forces) 1
(b) Brightest planet in the night sky is (Venus / Mars) 1
(c) The zygote divides repeatedly to give rise to an (embryo / foetus) 1

(d) The period of life when the body undergoes changes leading to

reproductive maturity is called (Adolescence / Adulthood) 1

el fawen &1 =9 Fifsw -

(a) TEETHET T UH TERGEd wol 3% IS © (WS a9 [ STEEE
)

(b) T e ° Fag Afersw 99 el U U (I / HIA)

(c) FTHIS TR fawrter gent I o ® (gor / )

(d) e A F T8 A S IR § UE ufedT B § T aRumeEy
S aftueer At @ (feremRreeen / o5awan)

4. Answer the following questions in short.

(a) Name the coded language based on the logical system used by visually

challenged persons. 1
(b) Domestic sewage released in rivers leads to death of aquatic animals. Justify. i
(c) Define threshing. 1
(d) Name the type of asexual reproduction in Amoeba. 1

rAtetea 99 &1 989 § 3w fafen -

(a) 3fte aTfoa =afemal g1 ST &I S ATell difhes YUEl 9 E1Rd 6
o9l =1 A fefen)

(b) *R W Ao =en T Ml Sl Sel 1 g 1 IO A4 €1 WHIor
Exd

(c) fET =i gREm fafeT)

(d) ST H B Al SN TS ® WK &1 AW fare|

5. (a) Define electroplating

forgaeim =1 wftvma fafe

(b) Name the metals that are positive and negative electrodes of voltaic cell. 1+1=2

dec Fel W o geraiEl & urg % AW S



"The combination of plane mirror and water can act like a prism." Describe

an activity that supports this statement. 2
“ T <Y UF v 99 &9 9 Us few w0 21 59 aAfuswe - gnedH

o s fwamRam 1 9 Hifg|

In the world of living organisms, frogs and insects use different methods

for production of sound. Justify the statement. 2
St ST § e Ud ®i2 s 3= w1 & fow fafa= fafemt soaim

F E| T U w1 Sifaa fag wRu

Explain the reasons behind the following facts :
(@) Formation of colourful bands in Jupiter. (two points)

(b) Comets are visible only when they come near the sun. 1+1=2
frferfaa qeat & RN %1 =Awe By

(@) 9evuld ye W Ui ufg el sl € (g @ foig)

(b) oY T T o WA e 9 E

Give reasons :

(i) We can boil water in a paper cup

(i1) Flame of burning candle goes off, when we blow over it strongly. 1+1=2
Fr fafen .

G) TH HOTS & %7 § UM I Ghd B

(i) ST W HT o I I €, 99 ¥H W W WK ¥ FF AN 2

Mg + CuS0, MgS0O, + Cu
Zn + CaSO, —> No reaction
Give reason for the above observations. 1+1=2

SIS STkl & fofu o i)

Suggest any two methods to check (control) pollution of water caused by
industrial waste. 2
sitgifite smfer=l g e At 9o g § awe & fag el < fafet @
EEIERAIE R

(@) Name one implement used for weeding.

(b) State any one beneficial effect of transplantation. 1+1=2
@ TE = fau ST eF = fFell o SioR &1 9m fareu)

(b) TE=IE & Th A9HRT goE o]



13.

14.

15.

16.

17.

(a) Define food preservation.

(b) Write any two uses of fungi like yeast in food industries.
(@) @ ARREor &t uftemn fafe)

(b) HAF, TH A2, H @ ITW H FE o STE fafen

Classify the living organisms into different categories on the basis of the
cell number. Also write one characteristic feature of each category.

St w1 HITERE B WET ® YR W FIed FRU S TH T F
T fowm e o fafem)

State two conditions under which the reproductive pattern of external
fertilization and external development succeeds.

3 71 feufoal =ad fo9 TR & aed 819 9Tl TS 9R9E BT ® i T
Sier 3= 81 eh|

The voice of boys gets deeper when they reach puberty. Write two possible
reasons for it.

AREY T TEaH W ASh! ST AN YA B S 21 39 4 99 SR
ferfer)

Give reasons for the following :

(a) Itis difficult to pull a rubber sucker pressed on a surface.

(b) We do not get crushed under the large atmospheric pressure acting
on our body.

(c) School bags are provided with wide straps to carry them.

frfafed & wRo saEy -

() TH I8 W TEHL Y TC WG h TH Kl CiA FL AT hf
&I 2

(b) TER YRR W Y9G ST ot aigHedd <9 & g9 L 80 fauss 78
|

(c) THE Tl H SIW B SAH et UgAl @ e 2|

131=2

1+1+1=3



18.

19.

20.

21.

Passage of electric current through conducting solution causes chemical
changes. List any three possible observations resulting from these chemical

changes.

el =t faom ¥ fagg aw warfed sR w vomafts afufrad &6t 2
3 wEEtE afatmEmeti % wRomreasy FE 39 999 sedsna fafem)

(a) Define amplitude and frequency of a vibrating body.

(b) Which characteristic of sound is determined by its amplitude and
frequency?

(a) ol wIPmE a5 # 9@ TE sgfd %1 R fafaw)

(b) = =T HE G foewa 3uh MM AR sngfd g FeEifa e 22

OR ( 394T)

"Excessive mnoise in the surroundings can cause many health related
problems". List any three ill effects of noise on our health.

“uftEer § srenfus YR 1 Suitefd e T GeE wHEE S SR
a1 ka1 IR W A o A fRel diF e dasl fawn s g
SART|

(a) Give the relative positions of sun, moon and earth on a full moon day
and on a new moon day.

(b) On the days following the new moon day, how does the size of the
illuminated part of moon changes? Also, name the term used for this
apparent change in size.

(a) IfOTr wd omEEm F fam wH, wEW dwn Usd & goe fefq
EnIEM

(b) STHEE & dI% 3TH O &1 § 98| & Y 90 &1 SR 69 THR
TR 22 AHR F T e Wedd % fow swin e awen =
fafau

Increasing use of fuels has harmful effects on the environment. Mention any
three such effects.

o 1 Tl g SN YHeR0 I BHHRS YO Sl 21 i feel 9
JAE 1 IeeE BT



22,

23.

An element 'X' burns in air with a bright white light and forms a white
powder which is found to be basic in nature. Element 'X!, on heating with
water, liberates a colourless gas which burns with a popping sound. On the
basis of above observations, answer the following questions :

(a) Identify the element 'X'.

(b) Write the chemical name of the white powder formed.

(c) Write a simple method to show the basic nature of the white powder.

(d) Write the balanced chemical equation for the reaction of 'X' with water.

T "q X' 59 gl H Sl T, W% SHEER UvE odl § N WhE qeel
T B S URE THT H R W 3@ oug X R U o T R S ®,
AT TF W AN T W S W WA A A F T SR W fretaren
g & SWR :

(a) 'X' ®g F TEEH|

(b) THE TS HT TUAEHF 9 S|

) T faf g 9% USst & NS Wpld & BH %1 AW 3

(d) =g X % IH W g& TEEEE A T FHEO T

Read the given situation carefully and answer the questions that follows :

Meena was cooking on a gas stove, wearing a nylon dress.

Her father told her to change her dress and wear a cotton dress for working

near the gas stove.

(@) Why did Meena's father advice her not to wear nylon dress while
cooking?

(b) State two other disadvantages of using synthetic fibres for making
clothes.

<t uffeufa &t eamgds ufzn wE fefafes woA & sw G

WA T % FIS Ted H W o W @M v @ oo sue fasht 3

T FUS IO F Fel S Al HIS TeH L AW Ger F GHIG HH B

! welle &

(a) " & T 7 39 T UHK 999 TEAE $ U8 T UE T i 9l
i %7

1+2=3



24.

b) Tydfed W & o= 999 % fau s/ @ w= S5 = e
FART|

Explain any three methods used for water purification.

T SIfGH & Tl dF aleh] &1 U FHiteg|

Write the name of disease causing micro organism, their mode of transmission
and one method of prevention for each of the following diseases :

(a) Cholera (b) Malaria

frefafea WM & fou W FeAsa, H9R0 &1 ale T a9re & T
SHH f?'if@'Q i

(a) & (b) T

OR (394T)

Write the name of a plant disease and its symptoms, caused by the following
micro organisms :

(a) wvirus (b) Bacteria
freafafea gemsiel g/ @ef ® 2 ol I H A Ud SHE aen fafe;
(a) aPH (b) framo]

Complete the table given below :

S. No. | Ductless Gland Hormone Function
1 Thyroid (i) (i1)
2 (iii) Growth hormone (iv)
(v) (vi) Lowers the blood
3
glucose level.

= T e w9 FIT
%9 s =1 =1 e BTAA w4

1 IESIRES W L) S—

2 @) gig THH Gv)
v || 9 TRT SW H HH
EXGINA

3
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(@)

(b)

()

(b)

()

(b)

(@)

(@)

(b)

OR (319@T1) 3

Enlist any two personal hygienic measures that help adolescents to
stay healthy.

Hormonal balance in adolescents shifts them towards their adult state.
Justify.

HATRTTd Eoadl & &5 1 U Ay o fFyR # @Ed ®1 # 755
W 2l

el § eTdie Hqem 3% ERal % AR o a2l St wifEd
Eat

State the rules which govern the propagation of a ray of light when it
goes from one transparent medium to another.

Mention the position, size and nature of image formed by a convex lens
when the object is placed

(i) between F and 2F points of lens.

(ii) at the 2F point of lens

WRTYTE foRT0T % Tk W I TREEN WIEAN H YEROT & (EGE S e
Trm fafem)

forelt ovg & SUa <@ 3 SAW U gfafss w1 feufq, SR g wfd

%1 Ie0@ AU, SFafh 98 9%
(i) o9 % FUd 2F fagsql & &= W@l &
(i) @8 & 2F f93 = = =
OR ( 319@T) 2+3=5

State the correlation between the following :

(1) the speed of light through a medium and its optical density.

(1)) Refractive index and optical density of a medium.

Draw a labelled ray diagram to show the formation of image of an object

placed at 'F' point of a convex lens. Also mention the nature of the image.



28.

() Fr=fafes & ster efes g9y sany -
() TH g o YFN Fi A Ud e T YRR T
(i) U HIAH HT GIF GoAiG T SHH THENF T

(b) TH 391 w9 & 'F' fog W @& T a%g & wfafsa = fmin + i«
T UF AfFa TR g T e amsu

Alternative question for visually challenged students in lieu of part (b) of

choice question.

2fe anfaa faenfan & fam W (b) =7 Sfeus o

(b) Define the following in context of a lens : 1+1+1=3
() Optical centre
(1) Principal axis

(iii) Radii of curvature

(b) UH oi| & dsH H Ffarea +t i fafee -
() THET B3
(i) W@ SR
(iii) asRaT B

(a) State any one cause of myopia and hypermetropia each.
(b) Differentiate between optical and non-optical aids.
(c) Name the part of the human eye which is responsible for the following :
(i) colour vision
(ii) holding the eye lens in its position. 2+2+1=5
(@) Trhe gfte = e < g <9 1 Th-TH HRO F6ET)
(b) STafeshel T A7 stfufeshdd o9 1 92 T HI|
©) HIH & T & 9§ 9 &1 99 fafaw st FEfated # oo e 2
0 e
() T ® o F e feer TR & fog



29.

30.

(a) Name and define the steps generally involved in extraction of a metal
from its ore.
(b) (i) Define an alloy.
(ii) Inwhat ways are alloys better than metals? (two points) 3+2=5
(a) T9%F | O & TspUUl § Hdg WhAsT & A9 Ug ufewmn fateu)
(b) (i) Tafzm g =1 9w fafe)
(i) Trafaa o, eogst @ fFe vor aw@m o7 (3 fag)

(a) Write the names of two types of synthetic plastics and give one example
of each.
(b) List six characteristics of synthetic plastics. 2+3=5
(a) WIATHD TRF & T UHN & AW fEm d <A 1 TH-UF SR
BUELY
(b) HYATT W & HE T fafwe Ui w5 g a9

OR ( 319dT1)

Give reason for the following : 1x5=5
(i) Rayon is not truly an artificial fibre.

(ii) Acrylonis used for making blankets.

(iii) Nylon is used for making ropes.

(iv) Bakelite is used for making electrical switches.

(v) Melamine is used for making kitchen ware.

Ffafigd =1 %RoT SqET
() @A 9 AR ¥ U 9yared W©n 98
(i) Uikl 1 Fe] aqF & Ty ST fFar s 2l

(iti) TTFed, = 99 & ®9 37 e

(iv) THeEe 9 fasel ® fo" a9m 9 2
(v) HOTHEA ® TEE ® §dq o S 2



31

32.

Give one characteristic feature and one main function of following parts of

cell :
(@) cellwall (b) chloroplast
(¢) Mitochondria (d) Golgi complex

(e) Ribosomes

FITRT & Fefafad 9m &1 T fafre @5 W T g FE TR

(a) IRt fafa (b) Efcera®
(c) HEeHiga (d) TSI/
() TEarEm

Name the four main organs of female reproductive system. Also explain the
function of any three parts.
AR IS YOS % AR HEF A w1 AW fated) s 9§ fEEl a9 s ®

w14 1 guia o Fifsm

OR ( 39dT)

Define metamorphosis. Enlist any four remarkable changes that occur in the
body of a tadpole during this process.

o &1 it fafew sa wfEa © SR dedid @ vk A B e
=t IR STHER G & e s




Paper -7

Maximum Marks : 100

Write one word for the following statements.
(@) The colour that bends maximum towards the base of the prism as it
passes from the prism. 1

(b) Method in which agricultural land is left uncultivated for one or more

season. 1
(c) Fibre which is also called as regenerated fibre. 1
(d) The minimum distance at which objects can be seen most distinctly. 1

= sifysreml & fog o o= fafem -

(a) o T S fiew & smem &1 R § siferen g € @ = e W
e 2|

(b) =% 9gfd o fF v o1 v ¥ sifass Al & fau Ffy gt &t afeer
i =4 B

(c) TEeR S8 q: I HER HE 5l 2

) 5 = g W e ovg ) gead TR w9 ° @0 S Haal ¢

Fill up the blanks.

(@) Water that is fit for drinking is called as water. 1

(b) Bauxite is an ore of ; 1

(c) Voltaic cell converts energy into electrical energy. 1

(d) are the chemicals that inhibit the growth of other harmful
microorganism by affecting their life processes. 1

o T vftw -

(@) 9F 98 9 % swde W aEn S g @ S gl wed Bl

(b) TEEE _ HTH S e

(c) TIREH HA ot w1 fogm oo § aser &

(d) T WER § S R o= wftens gl % fawm w6
TR €l




B

Choose the correct option :-

(a) A metal stored under kerosene. (Sodium / Todine)

(b) Number of days taken by hen's egg to hatch. [41 / 21]

(c) Hertz is the SI unit of (frequency / Amplitude)

(d) The menstrual cycle stops when a woman is in 45-50 years of age. This

is termed as (Menopause / Menarch)

Tl fawrea &1 799 Fivg -
(@) 9% urg fo *AfET & T8 GUEd fFan s 21 (Fifeaw / i)

b) T % @2 4 4 3UH =3 = kel § G997 @ g1 (41 fg7 /
21 &)

©) B (Agfd / FAEH) FH TH A 3HE

(d) & TH Hiewn 45 W 50 Tel H1 A W el € a9 W Hiihgw o 5
B W R T (WSifgfE / SieeE) we S e

Answer the following in short.

(a) Write one condition required for combustion.

(b) Name the process of fusion of male and female gamete which results
in the formation of zygote.

(c) An example of terrestrial planet.

(d) Name the electrode that is connected to the positive terminal of the
Battery.

= ool 1 9ee ¥ 3w fafay -

(a) Ted ® o UF Tewas 6 g |

b) TEY AR Gfeen SF F GoOod FOGHEA F AH 2, § F g B
3T &1 ufom |

() TUAT Ug T TH I <

d) o0 & s fiTd § 92 3o & AW 2

Write two indicators which are used to recognise pollutants in water.
i H T e # fe T f S A @ v ferl
Write the name of the cell organelle which :

(@) provides skeletal framework to the cell.

(b) helps in protein synthesis

(c) stores excess water and waste products

(d) iscalled store house of the cell.



7.

3T BRI T A fafen s -

(a) IR ! FHIA =1 a1 B

(b) WA HYATT § Heg Al T

() Tty g Ue erafrel gl 1 ST R 2
(d) RIS T WUE F Fea €l

Draw a diagram showing the path of light as it passes from rarer to denser

medium.

foe @ == WeEm &7 S WH 96l FHW F AF w1 @ oA ST

Rarer

Denser
Alternative question for visually impaired students only in lieu of Q. No. 7

UHE, 7% WM W hae g araa faenfia & fau awfeas uoa
Write two rules for refraction.

radd & & 99 fafeu)

Give reason :

(a) Animal cells are more flexible than plant cell.

(b) Mitochondria is called as power house of the cell.
FROT AR :

(a) ] HITERT, T IR W AE o=l 8l
(b) WIEIRIfEAT 1 HITeewT %1 wfdays He @l 8

44 + XX 44 + XY

[CR—

Observe the flowchart given above and answer the following questions

(a) Fill the appropriate combination of chromosome in blank boxes (i) and (ii)
(b) Predict the sex / gender of the child A and B.

fau U vt @ 2@ @R Feefafed g s

(a) T oM (i) TR (i) W TOTHET ® SUGH WASH Bl W]

(b) @58 AR BH fdT &I wfasami |

Alternative question for visually impaired students only in lieu of Q. No. 9
UH, 9% WM W haa g araa faenfiat & fau awfas uoa

Write two benefits of physical exercise for adolesence.

fremereen & foau ymifer =mm & a1 oy fod|



10.

11.

12.

14.

15.

16.

Write two differences between rod cells and cone cells of eye.

3@l w1 e HivERRT dAR vE iRt % €9 s fota

Classify the given material as combustible and non combustible.

(a) Glass (b) Wood
(¢) Iron Nail (d) Paper
& T WHE HI @A A TN e § i il
(a) A (b) TR
(c) W = Hic (d) RIS
Write the functions of the following.
(a) Ovaries (b) Oviduct
Frefefed = W ford|
(a) ASNH (b) TesaieAl
Complete the following table
Planet nearest to Sun (a)
Largest planet (b)
The constellation of which pole star is a part (c)
Natural satellite of earth (d)
frerfafea aifas & gu =X
T & FIE T9EE T8 (a)
wag 981 e (b)
ol A fere wara @ T © (c)
ged] 1 Yihfdeh ITUB (d)

Name any two communicable diseases and their modes of transmission.
fordt oft =1 HEW Sl aer S "o &1 fafy o

How does atmospheric pressure vary with

(a) altitude (b) temperature
ary @e Frefefed & SHuR 8 e €2
(@) HeEE (b) <TIHH

Fungi like yeast is widely used in baking industry. Explain how yeast help

to make the batter of idlies soft and fluffy.

9%, 99 T @ER, T SfET = H v fF S 2 9EeRT e

TR @R F g0 el 9 R 98 GAFH I° FoAl g3 S 8



17.

18.

19.

20.

21.

(a) Differentiate between chloroplasts and chromoplasts
(b) Name the smallest and the largest cell.
(a) FARITRE Td HETARE § 3= =am|

(b) HEH DR HIH Td Tad TSI FHIERT H1 AW o
OR ( 319ET)

(a) Explain the importance of chromosomes present in the nucleus.

(b) Write the different levels of organisation of living organism in sequence.
(a) =foTa® ¥ 9 S A YOS % Hed i wHenEl|

(b) FHY § Al € Y& T T 9eH H o

Water crisis is a major concern of today's world. As a student suggest any

three ways which you can practice to conserve water.

S Hehe 3TN I gMHA1 I Th d<t foar 21 T diF alehl 0 gera < o<
3T g s=H & ot ST Y HHd 2

Ramlal, a farmer is turning the soil upside down before sowing seeds.

(a) Name the implement he will use to make the soil loose.

(b) Write two benefits of the practice mentioned above.

T, U fvam 99 & e et & IR 9= w5 w2

(a) 39 ITHW w1 AW foe 99 97 ¥=1 * den w6 & fag Iwm
H o W 2

(b) SR Sodif@d Ushal & a o9 fag|

(a) Enlist the functions performed by artificial satellites. [2 points]
(b) What are comets?

(a) FEM ITE! W fFC T FET B GHAEG B (FE )
(b) HEEHY F &2

Rajat added a magnesium ribbon in a beaker containing a solution of Copper

Sulphate. Observe the set up and answer the questions given below.

Magnesiom ribbon

Brown Coating

After some time

Copper Sulphate (Blue) Colourless



(@) Name the type of chemical reaction shown.

(b) Why does the colour of the solution taken in the beaker change after
sometime?

(c) Write the chemical equation for the reaction occuring in the above
experiment.

T A U At RN Hehe foerm F dfAfem faw # e W fa

T He &1 fAhemr w1 & A= R U g % S S

(a) TeEmU MU TEEtE wfafwE F gER w1 A 2

(b) T ¥ fou foaeem =1 1 13 999 9K & 95 Wi 22

() fe@Em T v | '@ ol 9w & foau wmaf e fafeu)

Alternative question for visually impaired students only in lieu of Q. No. 21

TH 20 AT T A TR AT e & e St T

Give reason for the following :

(a) Silver is a good conductor of electricity but it is not used in electric
fitting.

(b) Aluminium is used in making aircrafts.

(c) Nobel metals do not get tarnished and retain lustre in long run.

—~

AT % &R JdEy

(@) =€t forsiell #1 wh @1 gus 2, fne ot forga fefen & swepr g
Tl fear s 2

(b) THAFEE 1 TREE TR TR § R e R

(c) woe o1 Soal @UE el B a1 ST =HE St = At e

22. Complete the table below.

location of image | type of lens used | Any one reason
Dettoekak aye formed for correction for defect
Myopia (i) (ii) (iii)
Hyper metropia | (iv) (v) (vi)




= @ 7 @l @ H

s & aW | Bfg a4 &1 w=E g%ﬁ.amw SN A
g & ThKR (TF)

fegfesm| | @ |G
SEgfew (v | ()

(a) Aashi avoids wearing synthetic clothes in summer and rainy season.

Give reason for her preference.

(b) Excessive use of plastics is causing damage to environment. Give two
points to justify the statement.

(@) AT, TR SR SRS ® OWY § HEW a9 TR ¥ a=d 2| SHsl
T HT FRO T

(b) =S & STTE® ST THERT H BT YEEE 2| I YT F Tl
BEH # foY =1 %R S

OR ( 319dr)

Enlist three advantages of using synthetic fibres.

FHFH FEI F ST FE F d9 FEE G0

(a) Write two benefits of doing chromium plating on bath taps and car
bumpers.

(b) Write one application of electrolysis.

(a) TH 7 3R FR T W FHHTH F WA TR B 5 a9 @]
(b) FeERICe &1 TH swAm fafem)
OR ( 37T )

(a) What will happen to the current when following changes are done in
an electromagnet.
(i) Magnetand the coil are made to come at rest.
(ii) Speed of relative motion of coil and magnet is increased.

(b) Write one application of electro magnetic induction.



25.

26.

27.

(@)

(b)

(b)
(@)

(b)
(@)

forpa ga o Frafafead ofteds &6 w #1e &1 == 3m?

() A% JuF o FoEd H e w1 B s 2
(i) FETEA W Feh HT TUY TG TG S S 2
foga g T %1 U svEn fafen

Name the fo]lowing -

(i) Coldest zone of the candle flame

(1) Gas produced during incomplete combustion of carbon fuel.

Define flame and calorific value.

frtateT % A9 =@

() HHET ® W w1 FEY S W

(i) e OM & S Ted § Scued |
@ qe HedEE # uferfid Hiw)

Classify the following into contact and non contact forces.
(i) Pushing a box across a room.

(ii) Football player kicking a ball.

(iii) Falling of a rain drop

(iv) Opposite poles of two magnets coming close together.
State any one effect of force.

HF S I TS a9 H FrEAfared %1 aied #1

() TF FR O F o5 & THAT

(i) Feaia el 5/ TH T8 I & JRAT

(iii) T AT &1 g5 1 7=

(iv) 1 FrFT & faIRiE gal 1 U T F IE ST
9 # foHdl T 99 &1 Sl

Define : Metallurgy
What happens when : (give equation)

(1) Zinc reacts with sulphuric acid



28.

29.

()
()
(b)

(©)

(a)

(a)
(b)

(b)
()
(a)
(b)
(c)

(b)

()

(ii) Sodium reacts with water

(iii) Magnesium hydroxide is tested with red litmus paper?

Pure gold is not used in making jewellery. Give reason.

U 1 AR F

1 B § W - (Tt e o)

) foF If gorfe o § waEfe e ed 22

(i) @ifzem =) TE & @Y THEHS fH e €2

(iii) FFARET TEgEEES Fi @@ faewd TR W S S @2
& AH F A Ted SHH H el A San R S

OR ( AYdT)

Define Alloys. Give two examples of alloys.

Differentiate between metal and non metal on the basis of density,
tensile strength and thermal conductivity.

fag org =1 aftwfom =3 qon fag o % 1 33w 2

e, T Ui 3R ST Terhdl % YR WU 991 A9 % |
1 = ferel|

Endocrine glands are known as ductless glands. Give reason.
Write the function of thyroxin and insulin.

Mention any two changes that take place during puberty.
T AFer F AORR UM AW W W W 8 wRO <

AP 3R sgfer =1 e ford|
qraT & SE BN I TRl & giEdd @ Seoid Hil

Explain the process of formation of rainbow.

Name the optical phenomena responsible for change in apparent
position of fish in a pond when seen by a bird sitting on a tree branch.
Define the following :

(i) Optical center

(ii) Prinicpal axis.



30.

31

(@)
(b)

()

(b)
(a)

(b)

(b)
()

()
(b)

ZUAY % ST 1 WlHAT T GEEE

aeE # Sl # ww Rrfd § agae ® fou SRR sitesda
WA &1 A | S| UH 9k 4E H| SO W o8 I WSioE @l
TEa &

=1 =1 ufefea w1

(i) offficshel g

(i) HEA

OR ( 39dT)

The speed of light in vaccum is 3%10® m/s and in glass is 2.10x10* m/s.
Calculate the refractive index of glass with respect to vaccum.

Write any three applications of lenses in our daily life.

frafa o enter Y T 3x10° m/s Bl 3T HiF H 2.10x10° m/s &1 Frelia
% WY H H % ATEAAH B T B

TR 3 S ® @9 @ FE qF ST ol

Give one example each of a natural and a synthetic fibre.

Give two difference between thermoplastics and thermosetting plastics.
As a responsible citizen one should work for the betterment of the
environment and should remember "4R"s. What does these "4R"'s represent.

g fde IR FHH W % U 39RO

e 3R SmiETe Wi ¥ J SR @y

Tk TeR AFR® & ®9 § TIER0 &1 9ol & fold &M LT anet
el FR “R” &1 ©9F TEAT =ifeU) U8 9x “R” @ <9 2

Name the method by which the following organisms reproduce.
(i) Hydra (ii) Plasmodium
Write two differences between sexual and asexual reproduction.

Compare the fertilization and development pattern in hens and elephant.

39 fafy =1 9 < fows g fefatea sial ®1 R g 2l
(i) =Sl (i) ATEHITETH



32,

(b)
(©)

(@)

©)
(@)
(b)

(©)

(b)
(@)
(b)

A AR ereifies oo & = g siat ferd
it a7k et H e e faere faf &1 gern i

OR ( H9dT

Give an example of hermaphrodite animal

Write one point of difference between oviparous and viviparous
organism. Give one example each.

How is a tadpole different from an adult frog, (three points)

2T S 1 R ge <

feayg &N fooia el & 9 o * 1 oy o) 5Ff =1 -
SR 3|

HoF #1 FEvhe T o1 "ok § 4 oo 2 (T4 %)

Define echo.

Enlist any two causes of noise pollution. Suggest two ways to limit it.

gfasafr %1 aftars fafau
=9 GUU # T HRU e T8 Gifga o ®/ e g



Paper -8

Maximum Marks : 100
1. Write one word for the following statements.
(a) Structure present in Euglena that helps in locomotion. 1
(b) The zone of complete combustion of wax vapours in a candle flame. 1
(c) Omnset of menstruation in girls at puberty. 1
(d) Bacterium responsible for formation of curd. 1
7 aifipert # faq @ v fafe -
(a) T H IR WA S THA | WEEE Bl 2
(b) WHeEl H e H HH G54 ® YU Sed w1 A
() AreAry o wsfFEal o wifgs w1 uny
(d) =& Fmr & fau SaEE e
2.  Fill up the blanks.
(a) Part of ear that vibrates when we hear sound is kown as . 1

(b) A marked developmental change in the structure and habit of an
organism during its life cycle is called . 1

(c) Amount of heat energy produced on complete burning one kg. of

fuel in pure oxygen is called : 1

(d) Substances that pollute water are called . 1

TR T 9T -

(a) FM o IH WM &I TE@H AT GIE I W HIA Bl B FE
e 2

(b) T e =% $ SNF UF 9 H G0 AR FI H UF e
faermdra aftada =1 FE W 2

(c) Tl ww forammw oM 1 Y SiedeH § T WE § T8 FH W
Scfifed et sl A i S 1]

(d) Vel I T wE o TRl w FE I 2



3. Choose the correct option :-
(a) Synthetic fibre that provides elasticity to socks is (Nylon / Terylene)
(b) The process of loosening and turning of soil (Ploughing / Harvesting)
(c) Site of fertilization is human females (oviduct / ovary)

(d) Outermost covering of an animal cell (Cell membrane / cell wall)

el fashed &1 =94 &IfSe -

(a) 9% WyeITud WM S Al i o= YEW wal gl (et / Se)
b ToET # @ F 3R IAe-Ter HE W GEHAT (ShaA / w2AE)
() wa AR H e (HeatE / Fend™)

(d) Siq HIMERT 1 Fad el AEw0 (St fereet / s faf)

4.  Answer the following questions in short.
(a) How cataract can be treated?
(b) What is the relative position of Earth, Sun and Moon during a full
moon day?
(c) Define second principal focus for a convex lens.
(d) What is immunity?
=1 vl @1 weig 7 s fafag -
(a) Hifafss =1 SU=R g WFR fF S g 22
() gfofer & &= geeft, T SR FEE 7 Wa / gers ferfd F= e 82
(€) T 3T @9 (7)) & fau g8 q&a Wiy &1 gy feafe)
(d) T wiates mdr @4 el 2?

5.  Why does Venus appear very bright in the sky? State its direction of rotation.
AFW W YF U FAEE WENEH i T e 22 SHE! AT g0 W
g+ &1 faen fafau)

6. What happens to a copper wire when it is introduced in the middle zone of
a candle flame? Give reason to support your answer.
TH AE W AR I HEEd B o ® WEE-a9 § o 9 W 39 4 e ©f
A9 ST I e Hi=|



10.

Two containers A and B of different shapes are filled with water upto
same height. Compare the magnitudes of hydrostatic pressure acting at
the bottom of containers A and B. Justify your answer.

faf= smhRl & < U S T F T W AR H9E 9% 9 T aE
H AR B A WA ol (R el /@ % uREmwh i qer it
s TW A e Fw

Reema wants to deposit silver on an iron spoon. She sets up a simple

electric circuit for electroplating,.

(a) to which terminal of the battery should the iron spoon and silver metal
be connected for smooth electroplating?

(b) Name the substance that can be used as an electrolyte in the above
process.

{91 U e % == W OHE R W "o =wwEd 2 9 fHgd-sea ® fou

T O ToEd 99 o T s 2

(a) HITE &Y § [ea-au 0 ® T @ & 99 AR =16 ®1 A w6 A
% T fat d Sirer =nfe?

(b) ST WA ¥ T foe[-0e9ed & €9 § 730 fFu 51 96 ol wed
w1 T fafe|

How does dumping of domestic sewage in rivers lead to depletion of oxygen
in water?

e wel % A § i w9 ue § AtdsE w s R gen
ST 82

(@) Why is phosphorus stored in water?

(b) Name two major non-metals which are present in fertilizers and enhance

the growth of plants.



11.

12,

13.

14.

(a) THITRRE 1 WeRW Ul H ) {al Sl 7
(b) Seiar! o foemm < wq@ se@s & 49 fafae st el 1 9fs *@

@ 2l

A paper up containing water does not catch fire on heating. Give reason.
g W W g Uk HES K HY TH A G S @l Uhsdl &l R
fafem)

Consider two media A and B. The speed of light in medium A is 2.5%10° m/s
and in medium B is 2%10° m/s. [Speed of light in vacuum = 3x10° m/ s]

(a) Find the absolute refractive index of medium A.

(b) Find the refractive index of medium B with respect to medium A.
T WEAE - & SR 9 2| WAW W WRNT W MG 2.5%10° HUHFES N
oeEw g § 2x10° Heydewe # (et § wem # = 3x10°HeEwE)
(a) WEIH 37 &1 AU TYgdAle S| St

(b) WIEAH 31 & TIU HILAH § H1 UGS TG B0

Ram saw a cracker burst at night at some distance from his house. He heard
the sound of the cracker a little later after seeing the flash of cracker

burst. Explain why there was a delay in hearing the sound of the cracker?

TH AT H AN R H D 30 W T Fedl gA @ IH T & e
F1 w1 9erRg w1 [T H G H HB GUT WA A R F e g
" < = gg, T i

Meshis: developed pimples an B Bice o she enbered afilesosnce. Slale
the possible reason for appearance of pimples and suggest a way to prevent
them.

oo 3 99 @ fEvivern o yay fee, sEe del W Held feE <9 ol
Hergl 1 IeIfd 1 e SR fafgy X $4% FHaro & ww 3
LSRR




15.

16.

17.

18.

Name the part of the male reproductive system that :-

(@) produces sperms

(b) conducts urine as well as sperms

T USH 99 & 3§ 90 % 99 fafen =

(a) TS H ST HIAT B

(b) A T A w HAEH w

Name the cell organelle which is called the power house of the cell and why?

39 FINTEH 3TF F1 A0 fAfeu F59 i &1 fAasei=R w8 s & 3R
Fi?

Categorise the following materials into biodegradable and non-biodegradable.

(a) Paper (d) Plastic Bag

(b) Woollen cloth (€) Aluminium can

(c) Wood (f) Peels of vegetables

Frefofea wel =1 Saf=iseia R ssafrwwi 5 affea sisg
(@) (d) s w1 g

(b) St IS (e) STEFHIo 1 fem

) AHS () Hfssal & feas

Mention the names and direction of forces acting on a bucket containing
water which is held above the ground in the hand of a person. Why the forces

acting on the bucket do not bring any change in its state of motion?

TF A H T W U § W g el ©, 9 BUae § W 8l 9wl W
TH a1 Jel it ] fRynstl @1 AW fafew) 9l W @ 9 §dl
FRO aieel 1 Teafa o HIE qfied o4 T8l i 8?2

OR ( 3794T)

2



19.

20.

Identify the nature and kind of forces involved in the following situations -

(a) A magnet attracting an object made up of iron.

(b) Expansion of lungs during inhalation

(c) An archer stretching his bow while taking aim at the target.

frfefas ofifeafsal 4 o@ ol 9 #1 9Hfd 3R ySR HT wEeE
Ffo -

(a) UF FaF gRI A2 i 9% F AU AR ARG FET

(b) EE oH & < Bwsl F faER
() TEIYEA & T ®ER g0 OEY &1 AUAl AR TiEAl

Sometimes unwanted plants grow alongwith the main crop and compete
for nutrients meant for the crop. What do you call such unwanted plants?
Briefly explain any two methods for the removal for such unwanted plants
from fields.

FH-F T WA F W et WO S Rt B W § W v T
% ToIq Hor %ol ¥ giaeasl e €| U8 srifoa dreiieh! 51 el S 22 Bat
§ ¥ g sraifed el &1 gem & fRl @ sl @ avi wEm o S

OR ( AYET)

What are fertilizers? State any two advantages of using fertilizers in fields
over manures.

3T 1 T ©2 Wl W WIS I U IaEh] 1 ITEN HE b IS & @l
fafEm)|

Differentiate between strong and weak electrolytes. (2 points). Also give
one example of each.

goel 3R ool fagga oTToedl & HeA i T HIf (FE T AR) | TIF
1 Th-Th I RS




21.

23

24,

25.

Suggest any three measures to limit noise pollution.

e wguul i fREfa w6 & 6=l 99 39l &1 gaa st
OR ( HA¥dT)

Name the sound producing organ of human beings and briefly explain the
mechanism of sound production in them.

A3Al H et ScR® AT &1 AW fafen qun wf-scora-utEe w1 g |9
U FHifera|

Name the micro-organism which causes tuberculosis. Explain how does

tuberculosis spread from an infected person to a healthy person?

34 geusia w1 AW fafee st qifss o= @ 21 aifks frel dwfi
fod § @Y Al by theldl €, T iU

(a) What is protoplasm present inside the nucleus called?

(b) Name the part of nucleus that condenses to form chromosomes at the
time of cell division. State the function of chromosomes in a cell.

(@) H5H b ST a@mH S9 go4 FI F1 Hel Sl &7

(b) F5H HI HE W UM FIEH (G0 F gHg GAtE SR O w5
ot an €7 frdl i o sl w1 g T st

(a) Why is potable water considered fit for drinking?

(b) Briefly explain any two methods of water purification.

(@) YI9d & 9 & arF FE A o el

b) SE-nfEE F e @ R = we § A i

Describe the role of atmosphere in protecting and preserving life on
earth. (3 points)

geeft qX SfTe T geen iR ufwerm ® arHed #1 9fie TR #ifel (HE
T f93)

1+2=3

1+2=3



26.

2.

28.

()

(b)
(a)

(b)

(b)

()

(b)

Name the gas evolved when zinc reacts with dilute hydrochloric acid.
How is this gas identified?

Write the balanced chemical equation for the above reaction.

T TR o & WY AfNTEA F W B W T sSwrsa
BT ¥2 39 T #T TEEH Y H S 2

T AR B9 Fqfod TEENE JHE farean)

State the cause of refraction of light? Mention the rules for refraction
of light.
Draw a ray diagram to show the image formed by a convex lens when

the object is located between F and 2F points of lens.

FHTYT-3TEd HT HRT oI5 HITT| THIT & TG F 990 HT Soord
EIEIY

9 TH o F S99 % F R oF fagetl & wew w@n W €
g Wit fwi gwi % fag o ara ity

Alternative question for visually impaired students only in lieu of Q. No. 27(b)
WH. 27(b) % TN UT el ghe wriad faenfdat & fau defers woa

State the nature, size and position of the image formed by a convex lens

when the object is located between F and 2F points of lens.
39 UH T F IUG 09 ® F AR 2F fags ® mem wm W g A
3% wfdfas w1 ged, smRR 3 feufq fafem)

Name the property of eye that enables us to see distant as well as nearby

objects with almost same clarity. Briefly explain the functions of following

parts of eye -

(a)
(c)

Cornea (b) Ciliary muscles

Optic nerve (d) Rod cells

2+1=3

3+2=5

1+4=5



29.

5 & 39 fouiw T w1 9w fafew st e X wd 9w w aegE @ ane

T 99F Ted $ 9Y J@H ¥ 999 99 ¢l 7 & 9 sEEal & s
F1 HHY H FUA HitAQ -

(a) =3 Ted (FHHn) (by wemmeft oferer
() T T (d) TR HIFERT (IS HITHT)
OR ( 319@T)

(a) What is the another name of hypermetropia? At what position does the
image of a nearby object formed in a person suffering from this defect?

(b) State two possible causes of hypermetropia and write the type of lens that
can be used to correct this defect.

(@) el ® SR P wEl S 22 56 AN § ywifen =fd o e
TG 1 wiafdd FHal a7 8?2

(b) FHTET B F 7 GHfad FRON F1 Ioorg HIFAC 901 39 a6 FI 31 FA
% fau 7 fee 9= 9 | w1 Am fdte

Shalini prepared a blue coloured solution of copper sulphate in a beaker.
She added a magnesium ribbon to it and observed the changes after an hour.
(@) What is the change is colour of solution?

(b) Name the type of chemical reaction involved.

(c) Write the balanced chemical equation for the above reaction.

(d) What will happen if she adds copper wire in magnesium sulphate

solution. Give suitable reason for your answer.

AT = ok ol | I Gehe 1 el 1 %1 foeEd dar T ged sa
Hriiferem e =en 3R Uw S 9gEe BF ol dRedd 1 gerr fwe

() Taems & @ ® a1 giteds e 22

(b) 3TH TH acel waEfe gfafear &1 A fafeu)

2+3=5



30.

31.

(c) STIT THEH iaiehal 1 Fdield THEe FHien ol faem|
d) A T TFHREY e TeTd § %R # a8 S ©, a1 9 g
I IW F foau ITge FRor g

OR ( 3A9@T)

State two reasons why alloys are better than pure metals. Write the
composition of Brass, Bronze and Gun metal.

=l &1 SO 1 Ioor@ *ifaC fF e 36 oge &1 AU g
gt 22 dide, FiE AR T e % gdiee ao fafe)

State three reasons why it is advised to restrict the use of plastic? Suggest two
measures to control the damage caused by plastic waste.

TNiE & ST w1 UF H GES A e s 22 %1 d w5 R fate)
I STURTE & HNUT BF dcl &fd &l Uk & i & STl 1 A
<ifsrul

List the various steps that lead to the development of an infant from the
zygote in human beings.

Tl | s § o] 94 9% fawm %51 utEen & fafv= = = geies
Eals

OR ( 319d1)

How are sexual and asexual reproduction different from each other?
(2 points). Name and explain the method by which Hydra reproduces
asexually. (No diagram is required)

AT &I sTeifites o Tw g § fee R fu= 2h 22 (S T fig) =9
fafe =1 9m fafigu 9 ufwea = avlv St e g e i S99
F 21 (Foa & avewassar 78 £1)

2+3=5



32.

(@)

(@)

(b)

List two secondary sexual characters seen only in girls but not in boys
at adolescence.

What are harmones? Name the harmone responsible for -

(1) Growth and development of body

(ii) Maintaining glucose level in blood

(iii) Regulating metabolic rate of the body

(iv) Maturation of sex organs in males.

Toryiereen o wefeal § feer gy S ae feel & 10 i e
wt A T S el | T fewE &t €

A T B 27 e 3 fau saeE s & T fafau -

() YR * gfs R fawm

(i) T ° YT & TR R T &

(iii) YT & A= <X B Farad HwE
(iv) To9 | I S T g



Paper -9

Maximum Marks : 90

SECTION - A (@E-31)

The device which is used to correct hypermetropia (a defect of human eye) is :

(a) Convex lens (b) Convex mirror

(c) Concave lens (d) Concave mirror 1
TH A S e IW (WS @ FTH W) K P FA B @ T

v < ©

(a) Seael ©d b) ST A0

(€) Fadd o9 (d) Fada g4u

Complete the following reaction :

Mg(s) + 2H,0 (1) +
(a) MgO+H, (b) Mg(OH),+H,
(© MgO+H,0 (d) MgOH + H, 1
frfafea sifafwn & @ #1 -
Mg(s) + 2H,0 (1) +
(a) MgO+H, (b) Mg(OH),+H,
() MgO+H,0 (d) MgOH + H,
Which of these is an example of Asteroid?
(a) Ursa Major (b) Moon
(c) Ceres (d) Phobos 1
T @ AT EUE SR © 2
(a) AT (b) SH
(c) WPH (d) HiE™
Which of the following synthetic fibres resembles wool and is used to make
blankets?
(a) Rayon (b) Acrylon
(c) Nylon (d) Terylene 1
frefafem o § == @ fHafes ton o Siw fEm € R Fad 591 & g
Wi fF S 22
@) (b) e
(c) TR (d) e
Define dispersion of light. 1
w11 faguor =1 9fiarfim Fifsm)
What is a constellation? 1

e f&e Fed 7

Which part of the human eye makes a person blue-eyed? 1
HAS G &1 HE-H W Uk A & Al Sl dren Sqan 82



10.

T,

12.

13,

14.

Define the term echo.
w5 wiaeatt =1 gfnfyg =il

Can pure gold be used to make jewellery? Give reason to justify your answer.
1 A TN F AU g R s fm S " 27 FRw w9
S SR I T it

What is the simplest molecule of a polymer known as?
T 98I HI TaH DS THE F FA Fed 27

Does white light show dispersion in air? Give reason for your answer.

1 g ¥ v gyl faamu e 22 A9 3w @ fau wror e

In the given diagram, name the two phases of moon (a) and (b) as viewed
from earth?

fou g smm A yedt @ fgma o, 959 F S wenedt (%) W (W) H
Bl RCRIEL

Alternative question for visually impaired students only in lieu of Q. No. 12
TH, 127% ®F W g arfee faenf= & fog deteas v

Name the phases of the moon, as viewed from earth, when

(a) the moon is between the sun and the earth.

(b) the earth is between the sun and the moon.

geat ¥ o arelt 39 95w & Fonslt & 99 farge, w59
() =smn gd IR 9ot & & B

(@) yedt gd R wgH & ST 2

Satish, a lab attendant has two nmew containers one made of copper and
the other of Iron. Which container should Satish use to store the solution of
dilute Hydrochloric Acid (HCl) and why?

T YA HETIE G & U g Y U €1 S99 9§ U U iR H o
2 AR o= 99§ o B GA9 hl q EESEii 3R (HCl) @ 9ufEd
FH F I BE-T TS A BT AW SR 2

On a hot summer day, a little mosquito produces vibrating sound near your

ear at a rate of about 4000 wings beats per 5 seconds. What is the frequency, in
hertz, of this sound?

ooy T % A ° T A T Se-' gesd oY% FE F U e
4000 WX 9fq 5 HihT F W TG FSHS B, STHI AN H AT o
T = B




15.

16.

1,

18.

19.

20.

OR ( A9dTr)
People, living near railway track, know well in advance about the approaching
train. How?

o $F F T T ol il i ¢ % g 1 T SIHAM Wi 81 Ha?
What is Myopia? Write any one cause of it?

Frre Tfie W #0127 HE FE TH HRO7 fafey?

What is potable water? Write any two parameters which must be followed for

water to be potable.
T ford @ed €7 S F YAse T A B /Y ATRve fafe)
A pencil is partially dipped in water. The part of pencil, which is dipped under

water, appears bent.

(a) Name the phenomenon responsible for this observation.

(b) Draw a well labelled diagram to show this phenomenon. (Diagram only)

U W ey AT TG O o B Uk UHe HEl 53 ¥HE w6 €

@ 39 "em & fou sTEE sfeem =1 fafew

(b) T e &1 USfl #H & foie et wifq Fmfea o el (Fad
)

Alternative question for visually impaired students only in lieu of Q. No. 17

WE. 17 WA W g arfeq faenfdar & fau dewfeas woa

What do you understand by the term 'Refraction of light'? Write two laws of

refraction of light.

‘YRTYT STUEEA’ W ST 9 TS §7 WYl A9edd & hig § W fatEu

Explain the steps which are generally involved in the extraction of a metal

from its ore.

TP U U TR | WA w9 9 9ged B e =101 w1 9uiF hife|

OR ( HAgdr)

How is a mineral different from an ore? Name the ore from which Aluminum

can be extracted.

T 9 o feg 7R 991 £2 39 395 1 AW sase few tegfafem

Tremfta fean =1 |t 2

Write any three sources of noise pollution.

s TENU % TR W 99 Sl & |

State any three precautions to ensure the proper functioning of human eye.

AE 79 % 9fad w1 gHEd 76 # fau 3@ et w1 gEes
2t |

Yo+21h

1+2

2+1



21.

22,

23.

24,

(a) Why do Geostationary Satellites appear to be fixed at one positon?
(b) How are artificial satellites important? (Give any two points)

(%) Jfeer 3o o o frufa § frem == femnd @ #2

(@) FHW ITE 7Y TFER Tl 27 (HE T TEd TaR)

One afternoon, while returning from school, Sakshi observed that in a lunch
party near her house, guests were throwing used disposable plastic plates
on the road. She immediately requested the organizer to keep a bin so
that guests can use the bin instead of littering on the road.

(a) How are materials made up of plastic harmful? (Give any two points)
(b) State the values displayed by Sakshi.

T foq IMET &) faure™ © ded gug wief A 2| fE Sue W % U™ U
@q o 99 @ E o o W # R el (Feurieed wnifies # wie)
HEF W HE @ T Wl A U & ENE ¥ T TF HIIH WH H S
o f TeA Te% W FEU FAH B S90 TH HIIE FTEAR H
(F) T =1 o+ gEq0 59 7R B 22 (SR = wro fafen)
(@) |l 8N W T SeHed fafem

Water has a property to dissolve large number of substances in it, due to which
it gets polluted easily. Write three ways to identify the pollutants present in
water.

Sl 1 UE 0 R T 56d a5 i wea § uwe ¥e € € I S 9w
ST § WafTa B W T S § SUeYd WgUe *il TEEN e o a

T T SeoTd HiToTd|

What is a Lens? Name two main types of lenses. Define the three special

rays used to draw ray diagrams for lenses.
=g = ufewfoe FifsT &9 % ge 9R & AW fafae @9 s e
3@ T4 & o wge BF aret 9 vg@ R =+ R wiw)

OR ( 94T )

You are given a convex lens of focal length 20 cm. Draw a ray diagram to show
the formation of the image formed when the object is kept at a distance of 40
cm from the lens. (Use appropriate scale to draw the diagram.) Also state the

positon, size and nature of image formed.

SR 20 T HIhE A AN TH It oF @ W 71 W= owg
9 9 § 40 T 1 T W @ w0 ® A 39 9% F7 Ufafar 99 HI L9
U U T AR FARy) gfafara &1 feufq, srer qon gfa s =asy)

1+2

2+1

1+1+3

3+2



25.

26.

27

Alternative question for visually impaired students only in lieu of Q. No. 24
WH. 24 @& w1 W ghe aifia franfda & foau defeus uv

What type of lens is used as a 'Reading Lens? How is the object positioned
with respect to this lens? Write the nature, size and position of image formed
through this lens?

T % fou o wR % o9 %1 @ e o 2?7 3@ o9 & Ay a5
=1 feafq St € WIET? 30 o9 % G o ol Gdtaws w1 feufd, e
91 Wi fareEu|

Differentiate between Metals and Non-metals on the basis of Sonorosity,
Lustre, Tensile strength, Thermal conductivity and Malleability.

g T AU W ST! SATeRal, AN, Td], SOHS et 3 2
T & YR W AW TR HI

OR ( Y1)

(a) What happens when : (write balanced chemical equations)

(i) Zinc reacts with sulphuric acid.
(ii) Sulphur burns in presence of oxygen.
(b) Write an activity to show that compound formed by burming of carbon in
oxygen is acidic in nature.
(F)F0 21 € 4 (Hdfe vemEte g fafa))
(i) T worftsr ufge & @y afufen s 2)
(ii) FewT SARAeE i syl & Ser <
(@) T & AR HT Iufefad § sor ¥ a9 Al AR 1 Wbl e
? - 9® i & fau s fraram fem)
(a) What is the difference between amplitude and time period of a
vibration?
(b) Write three harmful effects of noise pollution on health.
(2) <M T & AEM AR HEdET H R S 27
(b) A7 WOV &% WA W B T 9 STERE 99E fafan)
OR ( 379dT )

How do humans produce sound? How is this produced sound can be made

shrill or flat? Explain in detail.

T A Y IO HIE 82 T8 Sculled A el A Wiz hd B gehdl
2? famngds avfT #ifsw

Explain five characteristics of Synthetic Plastic.

YAy wnfe® &1 9= g9@ faviearei &1 guiA Fife)

2+3

112+315

3+2



28.

29,

30.

3L

32.

33.

34.

35.

OR ( 1gdT

List five measures to control the damage caused by plastic waste.
e Fe | B Al JdH @l FEEa & eg feel ue SRl @l gl
ERIE

SECTION - B( @2-®)
Which of these is a Rabi crop?

(i) Paddy (i1) Maize

(iii) Wheat (iv) Soya bean

T § HA-U TH W H HEA 27

(1) ®=&m (i1) HEFHI

(iii) TTE (iv) |

During fertilization. When an egg fuses with sperm, then the
resultant zygote will develop into a male child.

() 22+X (i) 44+X

(iii) 22+Y (iv) 44+Y

fried & <wF, 5@ @ ose g #® Ty foem
T A IS @S ® ®9 H foiaa gl

() 22+X (i) 44+ X

(iii) 22+Y (iv) 44+Y

Failure to build healthy bones may increase the risk of which disease in the
later life?

3R e Sied ¥ =Ry gsfedl & fmi § fawem fee Sl ® W
1 TG WAl &7

Where do sperms develop in a male reproductive system?

TS H YEhIY] kel e Bid 27

What is broadcasting in terms of agricultural practices?

Ffy genati & Tey o ‘s’ wr 22

What is a hermaphrodite? Give one example.

It @ 27 T I A

What are oviparous animals? Give an example.

JEUSH W F B &7 UH S e

Why Endocrine Gland is known as Ductless Gland? What is the role of
endocrine system? (Give any two points)

ST T FT AR U H T W F A T B2 TR F TR
2?2 (FE | Hew fafen)



36.

38.

39,

OR ( A¥4ET)
Write the location of Adrenal Gland. What is its function?

sAfeaes ofy =1 el fufy fafaw sae =1 5 22

Write three methods to replenish the fertility of soil. 3
faedt =1 39 &1 9 Ifd 6 & o9 e faten)
Yash, a student of class VIII, enjoys playing indoor games only. His cousin,
Sanyam, always advises him to play outdoor games and insists on physical
exercises, Sanyam also explained the importance of physical exercises to Yash.
(a) Why physical exercises are important at his age?
(b) Which values of Sanyam are shown here? 2+1
91, ASE FHRA H TH O T (9H FAA W B FW W T T (3TN
ge) ¥ F S A Bl SUH 99 X, WA Y SHW 9w el 9 9
dd (33eER W) Bod aW TRRE =M & W SN a8 999, a9
F THIfE AEm F e i ol TwEmE €
(%) TTH! 37 § TR mEm @i e 22
(@) el 999 & HE-W SoTHed YERia T €2
List the various steps that lead to the formation of egg of a hen. 5
2 @ T T 3 fafa i B gy FR

OR ( 319dr1)

What is metamorphosis? What are the changes that occur in the body of a
tadpole during this process?

FETO 3 7 T T T WA % IR U % IR § F afed
T 7
What is ploughing? State its four advantages. 5
A fFd FEd £ YO % 9 IuAiE Jasu)
OR ( 319ar)

Why agricultural practices need to be improved? Explain various methods of

crop improvement.

a1 Tl ¥ YR FH # TR A 82 O gUR & e a6
Ui &1



Paper -10

Maximum Marks : 90

SECTION - A (@E-37)

A beam of parallel rays of light when incident on a device, emerges out of

it and get converged at one point. The device is likely to be. 1
(a) Aconvexlens (b) A concave lens
(c) Aglassslab (d) Aprism

TR ] TR 0T 1 TR UW W9 U G T TAfaq SRt O eI
Q et Frsherar € A1 W fag W efanfig € #1 9 g g €

() TH IS N (b) TH el <

() HF H = (@) Tk i

The audible range of sound for human beings is - 1
(a) Below 20Hz (b) 20Hz to 20,000 Hz

(c) 20 Hz to 2KHz (d) above 20,000 Hz

Tl & fou saft &1 g1 aiEe e 2

(a) 20Hz¥ %" (b) 20Hz¥ 20,000 Hz

(c) 20Hz¥ 2KHz (d) 20,000 Hz ¥ e

Name a non metal which exists in liquid state - 1
(a) Mercury (b) Carbon

(c) Bromine (d) Aluminium

TH AU K AW feafen S xg deten H wE W6 € -

(a) HTHA (b) TS

(c) M (@ v

Identify major source of water pollution - 1
(a) oilspill (b) Agricultural waste

() Acd Rain (d) Industrial waste

S WUl Wl Y@ i gy o-

() el 1 T (b) FfA syaRTE

(c) 3T Tt (d) 3t e

Name a planet that has been named after a Roman Sea God. 1

Tk e w1 AW fafey e AW U SE WeE W e T e



10.

11.

12.

Astronauts are not able to talk directly to one another on the moon as we
normally do on the earth. Why?

AT W AR A TF R W Y 9 T #R ged € o fF ame:
BH gedl W HW 21 wRm fafan)

Name a prominent coustellation looking like distorted form of the letter 'W'
or'M

TH Y@ dRMAvEd &1 AW fafEe s st % R W etuer M'w fae
(foga) &9 s feard Zan 2

Suggest any two measures to conserve water in daily life.

e SieA | S Wew & fau fEE < suEl 1 gEe st

Mention the name given to the property by virtue of which metals can be
beaten into thin sheets?

form quied g GigE 1 dedt Udell WL S S Hehdl @ 99 UIEH
M F e e

Name any two metals that are more reactive than Aluminium.

ToHAtEe & st sAfafwanta =l a1 ggea & 99 fafew)

Name the following; :-

(i) Largest asteroid

(ii) A periodic comet

(i) A visible layer of the sun

(iv) A planet which can be seen with naked eye
frafafea & wm fafem .-

() Tu9 =T e (ufewn)

(i) Wk TEd YHEG

(i) GF HTH 7T T

(v) TF 7€ f98 40 it gw =@ o1 9% ©

The normal human eye can comfortably see a book lying on the table as
well as stars in the sky. Name the property of the eye that enables it to see
nearby as well as far off objects. State in brief the reason for this for this

amazing ability of the human eye.

Yaxd=2



13.

14.

15.

HAT {AE 95 T W IS g8 U s a w1 g ok | fEem R emm
¥ @ TEA € AT F 39 e %1 AW fafen s 3¥ e #: aen 5T
aEgall w1 %@A W WHH @l el e 47 i o9 Toeuer awar & ferw
Heq § HRU HF I

OR ( 319r@r )

Name the part of the human eye which is responsible for :-
(a) colour vision.

(b) changing the curvature of human eye.

(c) regulating the amount of light entering the eye.

(d) providing protective layer for the eye.

AFE 73 & $H 9 &1 AW fafan = e w fon seeE © -

@ =i 3fe

(b) WG 75 H1 gehdl | qfedq

() A & AT Yo¥ HA aTe T i HE HI (AT FHE

(d) 9 T W@ TG I FHIAI

Seema purchased a CD from a shop. While coming home, she was thrilled to

see a pattern of beautiful colours formed on it due to sun rays falling on it.

Name and define the phenomenon involved.

HH A T 3HE 9 U GE Wl SR a9y d qHY 9% Hiel & I W

T F T F T I R A T v # g w v e

B M| B arell aiean 1 AW fafen qun 59 uifie s

Name the following -

(a) Ametal having very low metting point.

(b) A metalloid

= = m fafew -

(a) TH HIg T ToAI% SEd FH TAT €

(b) TH ST

(a) What is meant by 18 carat gold?

(b) We prefer to use 18 carat gold rather than 24 carat gold for making
jewellery. Why?



16.

17.

(a) 18 @ TR § = i 27
(b) SHEUT S & eIl TH 24 i | hi STI&T 18 S HA & ST i
i = 24 27
OR ( 319 )

Name an alloy which is used for making aircraft bodies. Also give its
composition. 1+1=2
% fafsm ug =1 9w fafau fSos 3= gaE o™ = o= 591 F fag

fiF s &1 THE EEem ot fafem)

Give two uses each of the following :-

(a) Nylon (b) Acrylon 1+1=2
f 5 ¥y & 9 ST fafau -
(a) @ (b) TshTEeAl

Why does a pencil appear bent when it is partially dipped in water.
Explain with the help of a diagram. 3
o o @R B9 9§ AU WH W U Ufge 3 @ e el §, U SINE

F HeTdl ¥ gHERE)

Alternate question for visually impaired students only in lieu of Q. No. 17
WH. 17% WM W gie afyq faerfda & fau defeas g
For refration of light through spherical lence explain three rules.

T @9l g YRR & I0ead & fau 9 frm = s
OR ( 37%1aT )

(a) Define absolute refractive index of a medium.

(b) Which has higher absolute refractive index, glass or water?

(c) State the corelation between refractive index and optical density. 3
(a) Torsll e & fRAe el 1 g fafe)

(b) i Hel A § © gl U Hvedier Al B 87

() THUeT AYaci® TUT WHIYTEh To-dl % HEY TedrarY o99d Hisu|



18. Sahil is planning to buy a house in a metrocity. The house short listed by

19.

20.

him is located on a very busy / noisy road. Help him decline the offer stating

any three harmful effects of noise pollution.
qifeel Uk WL W T W W a1 w1 31 IEe g Wik giud s
T IFTANH oA / WIS el Tgsh T STIEYd §1 VIR YgUUl & HIE Al
TFRF TUE TR w0 g0 difed i 39 T # fow 7 FEd ¥ "Wera
Hifey|
Answer the following questions :-
(a) Define the term Echo?
(b) Why do we not hear echoes in our ordinary surroundings?
(c) Explain why we always hear the thunder a little after we see the flash
of lighting,.
=1 9wl % I ferfem -
(a) YR WigeA sl URSYG shifery)
(b) 3199 W= Uiaaw o wY wiqeaty # q€ g <l €2
(©) T2 Hifow fF TH THIN TSIl ®1 9HE ARkell & o i A=A g
4 ved i e &t @2
(i) Label the parts a, b and c in the following diagram of the human ear. 1V
(ii) State one function of each of these parts a, band ¢ 114 =
() HHE ®f % G T AW H 9FT a, b AU ¢ AHIHd HifAU|

(i)

T UE a, b ¢ AN 1 UH-UF TH1A = HITT

For visually impaired students only in lieu of (). No. 20

U 20 WH W gfe aifuq faenfeat & fau aewfeus uv=

@)
(ii)

Name three main parts of the human ear.

State one function of each of these parts.

+

3



21.

22.

23.

() ¥HE U & 99 @ 9 & W fafEm)

(i) 37 Yhe WM K1 Ush-Ush G foAf@y)

Give reason for the following :-

(a) From outer space, the earth appears blue and green.

(b) Colourful bands are associated with Jupiter.

() Venus is hotter than mercury even through it is more distant from sun.

== fow @R fafew .-

() wTed stafe ¥ gt el 9o w0 w6 el B

Gi) TEE & W G aifer dag 2 2

(i) FF | TF T BT T 9 T FT 79T Ak BH & FEeE T 99 H
aferer T 2

One day Rohan went to buy vegetables with his mother. He noticed that

the vegetable seller was packing all items in polythene bags. Rohan

encourged the seller to ask customers to bring their own cloth / jute bags

otherwise provide them the same.

(a) Why did Rohan think of encouraging vegetable seller to use jute or
cloth bag instead of polythene bags. State two reasons.

(b) State two values displayed by Rohan.

wF A o7 ST AEe % W dfesel Bisd TN OSEd ST ¥ R

o Wosll o aren W aEEl B deiet &t ofadl W Y # w@

gl Ted 4 THERR o g uERl H AT FUS/SR 1 Il oH &

fou #ew =1 wiefed o1 =1 5 = ST Ay

(@ T&T F H | fF Wt 999 9%l SRR H UifadE w1 O 5
STEN & TH W HIS HAYE 2 & Ul o h (¢ FTeanEd S aiwu
3 % fafam)

(b) e B Yeia & Hgog fafaml

Give reason for following :-
(a) Domestic sewage in big cities should not be released into rivers.
(b) Fertilizers and pesticides dumped into water bodies are fatal for animals

and human life.

1x3=3

2+1=3



24.

(c) Chlorine tablets should be added to purify water.

= = fou sro fafeu .-

(@ w2 IR H g "o & A | 7 9@ e e

(b) wemwrEl H NG TQ 3ot a1 dgshAnTh Siqsl qu1 WAl & oy s
7 W €

(c) A I G F & [0 geAii= &1 Tifear Sl 9 =ifeg)

Ankit's grand mother finds it difficult to put the thread into a needle without

wearing spectacles.

(a) Which eye defect is she suffering from?

(b) Why does the defect occur?

(c¢) How it canbe corrected?

(d) Mention two points we should adopt to take care of our eyes?

HAford i ST ST foAT =99 wed g2 H o een ¥ oA dqwd S 8

() =€ 9 77 T | wuifam 22

(b) & I FA B e?

(©) 39 9 H ThE yER weifea fwmanr s wshar €2

(@) 9 A HT @A HE § (T FTAR g AT S ared & fagai &
Seard Hifer

OR ( 3H¥ar)

In an examination room you find come visually challanged students

reading by using logical system based on their sense of touch.

(a) Name the type of aid used for visually challenged persons.

(b) How optical and Non optical aids help visually challenged persons to
develop their skill to a higher level. Explain in brief.

TF e w9 § o9 F@ 3fe yufae fgmiE # g v w TeEre W

AENE HEEAl 1 SN i g0 <@ B

(@) 3fe wwfeq =afmal & fag 59 v #7 9@ s & S @ SHa
= ferfam|

(b) Tz w s ) S o S e o R e #
AT 9ehlfSe a9 AYHIRE 199 fd 9N 98 2 989 H 9
EiSE

1+1+1

+2=5

1+4=5



25. A student wants to project the image of a candle flame on the walls of his

school laboratory by using a lens.

(i) Which type of lens should be used?

(i) By using the same lens, at what distance, in relation to the focal length
F' of the lens should we place the candle flame so as to get a inverted
magnified image.

(iii) Draw a neat well labelled diagram to show the magnified image 1+1+
mentioned above. 3=5

TF BF UH oF H STAN Fh TH WA HI SGen w  gafed

F formera wErTeTE AR W wET F = / =9 2

() 59 9or =1 o8 3T S 9En?

(i) SH @F F STEM FW gL AF H BEHd 30 F' ° "o soa foafda
yfafsa W@ #E & T WEedl % S & fwaA g0 W @A
=1feu?

(ili) SR Sedied Taafta ufafes w1 w=itld =11 & foau @=s weil ifq
AHIfHd AR Eie

For visually impaired students only in lieu of Q. No. 25 (iii)

WH, 25 (iii) % =M W e @ifaa feenfial & foau defeas wow

Wrie the nature, size and position of image formed by concave lens.

e o g fAfia ufafaa =7 wsfa, T qur frufq fafau)
OR ( 3197@T )

(a) Complete the following ray diagram

2F F

(b) State the position, nature and size of the image formed in above case.



26.

(c) Under what condition, does a convex lens form a virtual image.

(d) Mention any two uses of lenses in our daily life.

(@ R e o fo s o s

(b) TR XU T gy § e wfafag =t ffufa yofa qon 9xw fafeu
() o o A sua o9 ouR wiatea =1 Fmio = 82

(d) AR 3 Siad | o" & w15 suE fafEy

For visually impaired students only in lieu of Q. No. 25 (a) and (b)

TH. 25 (a)TE (b))% TM W e afaa faenfear & fau Sewfeas o
State three characteristics of the image formed by convex lens when the
object is placed beyond it 2F point.

T SO0 OF & 999 o9 89 & 2F fag ¥ @ @ o o Fia gfafed &
1 sfqaam fafem

A non metal 'X' burns in air to form a gas 'Y' which is responsible for global

warming and used in photo synthesis by plants. When this gas 'Y' dissolves

in water, it forms 'Z' which turns blue litmus red.

(a) Identify Xand Y.

(b) Write down balanced chemical equations of reactions involved.

(c) Why does the solution (Z) of the compound Y in water, turus blue litmus
red.

(d) Name a non-metal which is stored in water to prevent its reaction with
air.

TH FYE ‘X' S W e U 19 'Y SAEl @ | dfyes seie &

o seeerE € 9u Uil g e wyewor § SUAn 7 Sl §l W 7% T

‘Y' S/ W gerem ® ° 'z’ Sl 2 S el feteww o @ o 1 o uftafdd

@ T

@ ‘X'3w'y' = T2EE FitaU

(b) TH aTe fafwist = ddfera TaEts TR fafam)

() =fimm ‘Y’ w1 faoem ‘'z’ e foema = o o 1§ uRafda =i
Fa 22

d) TH urg &1 9 fefae e st ag 9 sfafen & fero 5 fag
w@ ¥ wye e s

14241
+1=5



2

OR ( 39dT)

Give reason -

(a) Metals are used for making bell.

(b) Aluminium foil is used for packaging of food stuff.

(©
(d)
(e)

(a) ©TGE W TN A g9 & fow fEen S B

W7 TRl F U w % T tafafem o=t srE e S g
Fea fwfen & % arl = s fwma s R

(d) Hifsaw a1 URRTEW = fFEE # T2 9eiE w2

W Wl % TH 6l Aie, B FAGA (gfEtEm 9 99 9E | i T

(b)
(©

(e)

(a)
(b)

(a)

(a)
(b)

Copper wires are used in electrical fittings.
Sodium and potassium are stored under kerosene.

Juices of citrus fruits are not stored in utensils made of iron or copper

or aluminium.

FRoT T -

o s 2

Why synthetic fibres are preferred over natural fibres? State 3 reasons.

Distinguish between thermoplastics and thermosetting plastics with

respect to -

(i)

arrangement of molecules

(i1) ability to remould

rRfae L9l @1 Y Syeltyad (@ & adEa # @ 9 8| dF SR

fofem)

= % wed § gdronfes 9o odiEfeT wfe % me faves

Ff -

(i)

STULST T e

(i) @ G WE ¥ eed ® gHal

Give the full form of PET and mention its uses

OR ( 37941 )

Explain why -

(D)

Rayon is called regenerated fibre

1x5=5

3+2=5



28.

29.

30.

(ii) Bakelite is used to make handles of various utensils
(iii) It is advised not to wear clothes made of synthetic fibres while
working in kitchen.
() PET® qvf &9 € fafe ao1 sae S &1 Seo@ &ifag
(b) T FIfoT fF Tar = e 2 -
() A F G GG 0 HE S 2
(i) TS F ITAN F= = % Ted a9F F o e S 2
(ifi) TSR H 14 FId T7F T¥AAfud W0 O 54 FUSI H T TeAT
el e S

SECTION - B(@g-9)

A crop, which is sown by transplantation, is :-

(i) Barley (11)) Wheat
(iii) Groundnut (iv) Poddy
TF FEA S FAOT 5N IE W € -

@ S (i) E

(i) HTHA (iv) ®I
Geeta's heart started beating faster while she was watching a horror movie

due to secretion of :-

() Adrenalin (i) Thyroxine

(iii) Growth Harmone (iv) Insulin

T & 759 F USHA UH S oArad sEd 9ud fwd wueRn ¥ 9
TI'QF de % =

@ Tfefem (i) AT

(i) greemAA (iv) T

Write the names of the implements used for -

(a) Ploughing (b) Crushing the crumbs
f= & fou swm e sm o deml % 9 fafae -

(a) TA FAH (b) BR THSI &I TEAT

2+3=5



3L

32,

34.

35.

36.

Name the processes by which Amoeba and Plasmodium reproduce. 1

39 ufFet ® AW fofeu {596 g ear au REREE S99 #99 ©

Prashant is 17 years old and is facing the problem of acne and pimples. Why? 1
Y 17 A ek § A Hiel gerdl 1 gue %1 Al T @ 8l Huol

ferfam)

What is a hermaphrodite? Explain giving an example. 2

IYATAT I B 27 UF IR0 EN TR HITAU)

Classify the animals given below into oviparous and viviparous animals :

(@) Elephant (b) Frog

() Hen (d) Humanbeings 2
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Rahul, a science graduate was visiting his native village. He observed that
farmers were watering the crop 2-3 times a day excessively. He told the
farmers about the harmful effects of excessive supply of water to plants.

(@) How does excessive use of water affect plants?

(b) Write two values displayed by Rahul. 1+
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(a) State any two advantages of ploughing the field.

(b) What are weedicides? 2+1
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37. Farmers in Northern India grow a leguminous crop between two successive
cereal crops.
(@) What is this practice called?
(b) Why only leguminous plants are selected for this practice? 1+2
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OR ( 394T)

(a) Why are harvested food grains sundried before storing?

(b) How is large scale storage of fruits and vegetables done?

(c) Whatis'winnowing'? 1+1+1
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38. (a) Draw a neat diagram of human female reproductive system and label
the following parts :-
(i) site of fertilization
(ii) site where embryo develops
(iii) part which produces ova
(b) How is embryo different from foetus? 342
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39.

For visually impaired students only in lieu of Q. No. 38
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Write any three functions performed by the human female reproductive system.
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Define is matamorphosis? What are the changes that occur in the body of a
tadpole during the process? Explain. 1+4
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(@) Defind adolescence.
(b) Why Adam's apple is seen in boys in front of the neck during puberty?
(c) How is the sex of human child determined?
(d) Whatis the average age for the onset of puberty in boys and girls. 1+1+2+1
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(@) Complete the table given below :-

Endocrime harmone Rate of

gland secreted harmone

1 | Pituitary gland - -

2 | Thyroid gland - -

(b) 'Experimentation with drygs during adolescence strictly should be
avoided' - Why?
() Why adolescents should not substitute milk with cold drinks and

fruit juices. 24241
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